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Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870381
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 71087012193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which level of teaching, the learner gets an opportunity to discriminate at length between
positive and negative exemplars of concepts?

1. Memory level

2. Understanding level

3. Reflective level

4. Autonomous development level
Options :

71087048481. 1

71087048482. 2

71087048483. 3

71087048484. 4

Question Number : 1 Question Id : 71087012193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087048481. 1
71087048482, 2
71087048483. 3
71087048484, 4

Question Number : 2 Question Id : 71087012194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
During teaching, a teacher's statements that encourage students to elaborate on an answer,
either their own or that of others will be called,

1. Structuring

2. Instructional variety

3. Engagement in the learning process
4. Probing

Options :

71087048485. 1

71087048486. 2

71087048487. 3

71087048488. 4

Question Number : 2 Question Id : 71087012194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048485, 1
71087048486. 2
71087048487. 3
71087048488. 4

Question Number : 3 Question Id : 71087012195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following will be called behavioural rather than “attitude and beliefs" related
competencies for becoming an effective teacher?

A. Locus of control

B. Communicating

C. Managing and monitoring

D. Teacher enthusiasm

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. B, Cand E only
4.C, D and E only
Options :
71087048489. 1
71087048490. 2
71087048491. 3
71087048492. 4

Question Number : 3 Question Id : 71087012195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. @A B, C3RD
3. ®adB, CARE
4.HIAC, D ARE
Options :
71087048489. 1
71087048490. 2
71087048491. 3
71087048492, 4

Question Number : 4 Question Id : 71087012196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following list of methods of teaching used in institutions of higher learning, identify

those which are learner-centred

A. Project work

B. Chalk and talk

C. Lecturing with audio-visual

D. Computer-aided instruction

E. Simulation and role-playing

Choose the correct answer from the options given below:

1. B, C and D only
2. D and E only

3. A, Band Conly
4.C, D and E only
Options :
71087048493. 1
71087048494, 2
71087048495. 3
71087048496. 4

Question Number : 4 Question Id : 71087012196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®dd B, C 3R D
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3. @A A, B AR C
4.HaAC, D ARE
Options :
71087048493, 1
71087048494, 2
71087048495, 3
71087048496. 4

Question Number : 5 Question Id : 71087012197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

, : l. Percentile rank and standard scores are used
A. Formative Evaluation .
for reporting

B. Summative Evaluation |l. Standards indicative of mastery

C. Criterion-referenced test lll. The intention of using it is to identify scope
and potential for improvement

D. Norm-referenced test IV. Its intention is to judge learning standards

Choose the correct answer from the options given below:

TA-NLB-IV,C-1I,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-1L,C-1V,D-1I
4 A-IV,B-1I, C-1,D-1
Options :

71087048497. 1
71087048498. 2
71087048499. 3
71087048500. 4

Question Number : 5 Question Id : 71087012197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A-lll, B-1V, C-1I, D-I
2. A-l, B-II, C-1II, D-1V
3. A-ll, B-I, C-IV, D-1I
4. A-IV, B-lI, C-1, D-II
Options :
71087048497. 1
71087048498. 2
71087048499. 3
71087048500. 4

Question Number : 6 Question Id : 71087012198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In using the hypothetico-deductive research paradigm which of the following sequences is
considered appropriate?

1. Hypothesis making, Hypothesis testing, Arriving at generalization and Conclusion

2. Establishing a research problem, Hypothesis making, Hypothesis testing, Arriving at
generalization and Conclusion

3. Hypothesis making, Establishing a research problem, Hypothesis testing, Arriving at
generalization and Conclusion

4. Hypothesis testing, Hypothesis making, Finalizing the research problem, Arriving at
generalization and Conclusion

Options :

71087048501. 1
71087048502. 2
71087048503. 3
71087048504. 4

Question Number : 6 Question Id : 71087012198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
URGAIHD - HATHES 2 UIGHH &1 W &3+ H Hafaiad 5 9 forg o3 @ 3ugad |JF1
Sl g ?

1. GRS U AT, TRE T Ga0, FHEMHI0 R Ugadl iR ey

2. T - g FiRa oA, uRaegr Fai, uReedHr olieun, Sramiiao iR UgeH $iR
feam

3. R e a2 gEen FiRa SA1, tRe A1 Ga, TERITGRU R UgaH1 3R oy

4. URG T UL, TR i, 2y I &1 3ifos 0 S, 9mia 1) UgaH iR
feam

Options :

71087048501. 1

71087048502. 2




71087048503. 3
71087048504. 4

Question Number : 7 Question Id : 71087012199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following research procedures will figure under post positivistic approach?

1. Normative survey
2. Experimental study
3. Ethnographic study
4. Ex post facto study
Options :
71087048505. 1
71087048506. 2
71087048507. 3
71087048508. 4

Question Number : 7 Question Id : 71087012199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048505. 1
71087048506. 2
71087048507. 3
71087048508. 4



Question Number : 8 Question Id : 71087012200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A college teacher plans a research programme in which he/she intends to improve the socio-
emotional aspect of his/her classroom climate during teaching. Which one of the following
research methods will be considered appropriate in this context?

1. Experimental method

2. Descriptive method

3. Historical method

4. Action research method
Options :

71087048509. 1
71087048510. 2
71087048511. 3
71087048512. 4

Question Number : 8 Question Id : 71087012200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048509. 1
71087048510. 2



71087048511. 3
71087048512. 4

Question Number : 9 Question Id : 71087012201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following steps in research are least vulnerable to research ethics?
A Identifying the research variables

B. Defining the research variables

C. Data collection procedure

D. Data analysis procedure

E. Reporting research outcomes

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and E only
Options :
71087048513. 1
71087048514. 2
71087048515. 3
71087048516. 4

Question Number : 9 Question Id : 71087012201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. HaAD ARE
Options :
71087048513 1
71087048514. 2
71087048515. 3
71087048516. 4

Question Number : 10 Question Id : 71087012202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The personalistic styles of writing a research report are permissible in which of the following
research?

A. Grounded theory research

B. Experimental research

C. Participant-observation based research

D. Historical research

E. Case study research

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Cand E only
Options :
71087048517. 1
71087048518. 2
71087048519. 3
71087048520. 4

Question Number : 10 Question Id : 71087012202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. AU C, D 3R E
4, BT A, C 3R E
Options :
71087048517. 1
71087048518. 2
71087048519. 3
71087048520. 4

Sub-Section Number : 2
Sub-Section Id : 710870382
Question Shuffling Allowed : Yes

Question Id : 71087012203 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Read the passage carefully and answer the questions that follow

More generally, today's business-to-business marketers are using a wide range of digital and
social marketing approaches from websites, blogs, and smartphone apps to mainstream social
networks such as Facebook, Linkedln, Youtube, and Twitter to reach business customers and
manage customer relationships anywhere, anytime. Digital and social marketing has rapidly
become the new space for engaging business customers. Business-to-business e-procurement
yields many benefits. First, it shaves transaction costs and results in more efficient purchasing
for both buyers and suppliers. E-procurement reduces the time between order and delivery.
And a Web-powered purchasing program eliminates the paperwork associated with traditional
requisition and ordering procedures and helps an organization keep better track of all
purchases. Finally, beyond the cost and time savings, e-procurement frees purchasing people
from a lot of drudgery and paperwork. In turn, it frees them to focus on more strategic issues,
such as finding better supply sources and working with suppliers to reduce costs and develop
new products.

The rapidly expanding use of e-procurement, however, also presents some problems. For
example, at the same time that the Internet makes it possible for suppliers and customers to
share business data and even collaborate on product design, it can also erode decades-old
customer-supplier relationships. Many buyers now use the power of the Internet to pit
suppliers against one another and search out better deals, products, and turnaround times on
a purchase-by-purchase basis.

E-procurement can also create potential security concerns. Although home shopping
transactions can be protected through basic encryption, the secure environment that
businesses need to carry out confidential interactions is sometimes still lacking.

Sub questions

Question Number : 11 Question Id : 71087012204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the current strategy of business to business managers?

1. Searching for new business space

2. Exploring new customer relations

3. Less dependence on social marketing
4. More and more use of digital business
Options :

71087048521. 1

71087048522. 2

71087048523. 3

71087048524. 4

Question Number : 12 Question Id : 71087012205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The benefits of e-procurement are

A. Cost reduction

B. Quick delivery

C. Longer time for strategic procurement

D. Empathetic purchase

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087048525. 1



71087048526. 2
71087048527. 3
71087048528. 4

Question Number : 13 Question Id : 71087012206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be a strategic issue as a result of less paperwork?

1. Transaction analysis

2. More investment for supply

3. Development of new products

4. Importance to traditional customer relation
Options :

71087048529. 1

71087048530. 2

71087048531. 3

71087048532. 4

Question Number : 14 Question Id : 71087012207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be the main issue with e-procurement vis-a-vis power of Internet?

1. Different purchases for both buyers and suppliers
2. Sharing business data with customers

3. Competitive supply of products

4. Better purchase deals

Options :

71087048533. 1

71087048534. 2

71087048535. 3

71087048536. 4



Question Number : 15 Question Id : 71087012208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The focus of the passage is on

1. The power of suppliers

2. Basic business data encryption

3. The supply side of business

4. The critical features of e-procurement
Options :

71087048537. 1

71087048538. 2

71087048539. 3

71087048540. 4

Question Id : 71087012203 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087012204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048521. 1

71087048522. 2

71087048523. 3

71087048524, 4

Question Number : 12 Question Id : 71087012205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U AH G :

A. TR @eldl

B. TS gt
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D. YHHYd® Eiig

el fdd e &1 98 DIfo :

1. Hdd A X B
2. ®Had B AR C
3. ®dd C 3R D
4. HadA AR D
Options :
71087048525. 1
71087048526. 2




71087048527. 3
71087048528. 4

Question Number : 13 Question Id : 71087012206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048529. 1

71087048530. 2

71087048531. 3

71087048532. 4

Question Number : 14 Question Id : 71087012207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048533. 1

71087048534, 2

71087048535, 3

71087048536. 4




Question Number : 15 Question Id : 71087012208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. gi-ardl fae-4 Sl tihEH
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4. 3-UTUU1 B U fa=ivan
Options :

71087048537. 1

71087048538. 2

71087048539. 3

71087048540. 4

Sub-Section Number : 3
Sub-Section Id : 710870383
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087012209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In communication process, when the sender and the receiver interchange their roles in respect
of sending and receiving the message, it is called

1. Universal model

2. Transactional model
3. Singular-flow model
4, Pluralistic model
Options :

71087048541. 1
71087048542. 2
71087048543. 3



71087048544. 4

Question Number : 16 Question Id : 71087012209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. THdeRIED Hidey
3. Uhd-Udlg UidEyu
4, 9gadigl Ufdey
Options :
71087048541. 1
71087048542. 2
71087048543, 3
71087048544, 4

Question Number : 17 Question Id : 71087012210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A teacher who encourages students’ participation in communication will ensure
A. Opposite views

B. Self-esteem

C. Class performance

D. Professional development

E. Binary distractions

Choose the correct answer from the options given below:

1. A, B and C only
2. A, CandE only
3.B,Cand D only
4. A, Dand E only
Options :
71087048545. 1
71087048546. 2
71087048547. 3
71087048548. 4

Question Number : 17 Question Id : 71087012210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ol faded &1 994 B ;

1. HAAA, B 3R C
2. HAAA, CHRE
3. ®aAB, C3RD
4. HAAA, D ARE
Options :
71087048545, 1
71087048546. 2
71087048547, 3
71087048548, 4

Question Number : 18 Question Id : 71087012211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In group discussions, some participants enter the fray with big chips on their
shoulders

Reason R: These are antagonistic people who are calm and listed

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087048549. 1

71087048550. 2

71087048551. 3

71087048552. 4

Question Number : 18 Question Id : 71087012211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I & Py U TE B - U 1 3ifHiape (A) 3R G @1 b (R) P61 I ;
HYDHYA (A) : FHE Td1 H $S UgHFN I3 - gt dld dRd & |

dd (R) : T it @0 81d & =il 2Mid SR ufaarg! 8id &

SUYdd Bl B el H Fgiied [deedl H U Halfte Juged S 94 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 9BI 8 U (R) el &l B

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087048549. 1

71087048550. 2

71087048551. 3

71087048552. 4

Question Number : 19 Question Id : 71087012212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Communication Barrier Description

A, Physical |. Different understanding
B. Psychological Il. Stereotypes

C. Language lll. Pre-disposed notions
D. Cultural IV. Inaudible voice

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-ILB-IL,C-1V,D-1
SA-ILB-1L,C-NILD-1V
4A-LB-ILC-1ILD-1V
Options :

71087048553. 1
71087048554. 2
71087048555. 3
71087048556. 4

Question Number : 19 Question Id : 71087012212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 Dl Fali-11 & oy GAferd o :

gal-| ql-1i

GO ST ICERI

A. RIS REGUEEE]

B. HHIGTI® 1. Tfcag YR
C. HTST Gadi 11. Id Wgd 4RO
D. HiEhidd V. 3T HTdTS
I feu U fashedl © O gel 3R &1 98- & -

1. A-1V, B-1ll, C-1, D-I
2. AL B-1I, C-1V, D-I
3. A-ll, B-1, C-lII, D-1V
4. A-l, B-lI, C-lI, D-1V
Options :
71087048553. 1
71087048554. 2
71087048555. 3
71087048556. 4

Question Number : 20 Question Id : 71087012213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication for educational purpose takes place, the sequence of elements is
A. Source

B. Encoder

C. Message

D. Decoder

E. Feedback

Choose the correct answer from the options given below

1.A B CD,E
2B CDEA
3.CD,EAB
4.D,E B A C
Options :

71087048557. 1
71087048558. 2
71087048559. 3
71087048560. 4

Question Number : 20 Question Id : 71087012213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e Q&MU TS g WHINYI BIdT § ol U<l Bl HHBIAI 8 :
A, Fid

B. B¢ qifad

C. T

D. fadis®

£ Bigad®

i f&u U faeedl # @ Uel I &1 98- B -

1.A,B,C,D3RE
2.B,C D, E3RA
3.C, D, E A3JRB
4.D,E B, A3RC
Options :
71087048557 1
71087048558. 2
71087048559. 3
71087048560. 4

Question Number : 21 Question Id : 71087012214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A man walks at a speed of 3 km/hour from location A towards east for 1 hour and then turning
left walks at a speed of 1.5 km/hour for 6 hours towards north to a location B. The shortest
distance between locations A and B is

1. 10 km

2. 12 km

3. ~8.54 km
4, ~9.48 km
Options :
71087048561. 1
71087048562. 2
71087048563. 3
71087048564. 4

Question Number : 21 Question Id : 71087012214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ueh oHfekd I A 9 3 T 9e1 71fd O qRa = # 1 9¢ qob doidl & 99l 39 d1g a1 S 1.5
b 51,/ g1 &1 71 Y IR G2 DI 3R 6 e T ™M B b daidl &1 ®H A 3R B & did i
FaH g & -

1. 10 T Al

2. 12 fp .
3.~ 854 fhdl
4. ~ 9.48 fp oI,
Options :
71087048561. 1
71087048562. 2
71087048563. 3
71087048564. 4

Question Number : 22 Question Id : 71087012215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The volume of a cube of side 10.0 cm is changed by increasing its sides by 1.0%. The
percentage increase in the volume of the cube is

1. ~1%
2. ~6%
3.~3%
4. ~ 10 %
Options :

71087048565. 1
71087048566. 2
71087048567. 3
71087048568. 4

Question Number : 22 Question Id : 71087012215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

10.0 AT BT YT dIci U U B G ST Y3 bl 1.0 % ToIdhR dad ol oldl o | 39 9

© gd- | ula=d 3fs g -
1. ~1%
2.~ 6%
3.~3%
4. ~10%
Options :

71087048565. 1
71087048566. 2
71087048567. 3
71087048568. 4



Question Number : 23 Question Id : 71087012216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the following number series 2, 10, 30, 68, X

What is the term X7

1. 130

2. .92

3.88

4.76

Options :
71087048569. 1
71087048570. 2
71087048571. 3
71087048572. 4

Question Number : 23 Question Id : 71087012216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ofafag den o1 ) fGaR &
210, 30, 68, X
X @1 HH TR 2

1. 130

2.92

3.88

4.76

Options :
71087048569. 1
71087048570. 2



71087048571. 3
71087048572. 4

Question Number : 24 Question Id : 71087012217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A household Incurs a certain expenditure on the consumption of a commodity in a given
month. If the price of the commodity is decreased by 20% and its consumption is increased by
20%, what will be the net percent increase or decrease in the expenditure of the household?

1. 2%

2. 4%

3. 8%

4. 10%
Options :
71087048573. 1
71087048574. 2
71087048575. 3
71087048576. 4

Question Number : 24 Question Id : 71087012217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U3 URAR Us A8 99N H U% a%g & SUaRT IR &idud o0 &l | 3fc 39 a%g @1 H1Ad 20%
T WAl & AR d%] ®I UGN 20% d¢ Idl & df 39 URaR & &g ¥ fova- ufa=id &1 sglall
Gl HH| 8T 7

1. 2%

2. 4%

3. 8%

4. 10%
Options :



71087048573. 1
71087048574. 2
71087048575. 3
71087048576. 4

Question Number : 25 Question Id : 71087012218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following letter series. What is next of acf, egj, ikn, ogt,

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087048577. 1
71087048578. 2
71087048579. 3
71087048580. 4

Question Number : 25 Question Id : 71087012218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafaRad quf #49 R 3gR SIS ATy @ g 2

acf, eqi, ikn, oqt, ___

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087048577. 1



71087048578. 2
71087048579. 3
71087048580. 4

Question Number : 26 Question Id : 71087012219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions:

All philosophers are fallible

Socrates is not fallible

In the classical square of opposition, which one of the following is the correct answer?

1. Contrary

2. Contradictory
3. Subalteration
4. Subcontrary
Options :
71087048581. 1
71087048582. 2
71087048583. 3
71087048584. 4

Question Number : 26 Question Id : 71087012219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e &l a arg fau MU B -

ot erife waRia B & |

YT YA Tl g |

foTy & Fenfa®! avt § Fufafed 3 3 oH-91 98 W B

1. e

2. faemyTt
3. 3UIfsd

4. 3u-fazreh
Options :
71087048581. 1
71087048582. 2
71087048583. 3
71087048584. 4

Question Number : 27 Question Id : 71087012220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below is a proposition:
‘Mahatma Gandhi is called father of Nation'.
What kind of classical categorical proposition is it?

1. Universal affirmative
2. Particular affirmative
3.Both 1 and 2

4. Neither 1 nor 2
Options :

71087048585. 1



71087048586. 2
71087048587. 3
71087048588. 4

Question Number : 27 Question Id : 71087012220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Il U ddare fea T g ;

 HETH i B AP el S B

7% Fofated & § oy IR &1 aenfas! FRUg ahare § 2

1. gray iy fGerd®

2. fafey faurars

3.1 3R 2 gH

4.1 3R 2 A Ple o T8
Options :

71087048585. 1
71087048586. 2
71087048587. 3
71087048588. 4

Question Number : 28 Question Id : 71087012221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following pramanas are accepted by Vaisheshika philosophy?
A. Pratyasha

B. Anumana

C. Sabda

D. Upamana

E. Arthapatti

F. Anupalabdhi

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.Eand F only
4. Cand E only
Options :
71087048589. 1
71087048590. 2
71087048591. 3
71087048592. 4

Question Number : 28 Question Id : 71087012221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafeiad # 94 ®H-9 uA 9t o2F H WioR U e § 2

FafaRad & 9 98! SO &1 994 i :

1. Had A 3R B
2. ®ad C 3R D
3. HAAE 3R F
4. HaAC IARE
Options :
71087048589. 1
71087048590. 2
71087048591 3
71087048592. 4

Question Number : 29 Question Id : 71087012222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are accepted in Buddhism?

A. Adhyasa

B. Apoha

C. Abhava

D. Arthapatti

E. Pratyaksha

F. Sabda

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.B and E only
4. E and F only
Options :
71087048593. 1
71087048594. 2
71087048595. 3
71087048596. 4

Question Number : 29 Question Id : 71087012222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dig 4 | FafaRed # 9 fo-1ol WieR fearwidaig 2

AL SETH

3. 3{UIE

C. 3{H1d

D. YUk

E. Ue

F. TMoG

FafeRad fasmedl # ¥ UE1 3Tk B I8 DI :

1. Had A 3R B
2. ®ad C 3R D
3. ®HaaB AR E
4 HAAE AR F
Options :
71087048593. 1
71087048594. 2
71087048595. 3
71087048596. 4

Question Number : 30 Question Id : 71087012223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the nature of a logical argument? Choose the correct answer from the following:

1. Justified or unjustified

2. True or false

3. Valid or invalid

4, Verifiable or not verifiable

Options :

71087048597. 1
71087048598. 2
71087048599. 3
71087048600. 4

Question Number : 30 Question Id : 71087012223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dbETTd gida @1 UG &1 gldl ¢ 7 MaikiRgd & 9 981 3wk &1 984 Dy ;

1. "Oid 3R TR - AEid
2. TR g1 TTed

3. 39 41 33y

4, YUY 3HYdl G-
Options :

71087048597. 1
71087048598 2
71087048599. 3
71087048600. 4

Sub-Section Number : 4
Sub-Section Id : 710870384
Question Shuffling Allowed : Yes

Question Id : 71087012224 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (31 to 35)
Question Label : Comprehension

Answer the question based on the data contained in the table

The following table embodies the data on vegetable produced year wise in tonne for a
particular district.

Year\Vegetable Potato Tomato Onion
2074 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 800 a0 600

Sub questions

Question Number : 31 Question Id : 71087012225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which year(s) the production of potato is less than that of average production?
A 2016

B. 2014

C. 2015

D. 2017

Choose the correct answer from the options given below

1. A and B only

2. A, B and D only
3. C only

4. Cand D only

Options :

71087048601. 1
71087048602. 2
71087048603. 3
71087048604. 4

Question Number : 32 Question Id : 71087012226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year(s) is the production of tomato the least?

1. 2014
2.2017
3. 2019
4. 2016
Options :



71087048605. 1
71087048606. 2
71087048607. 3
71087048608. 4

Question Number : 33 Question Id : 71087012227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the gross production of vegetables in the year 20187

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087048609. 1
71087048610. 2
71087048611. 3
71087048612. 4

Question Number : 34 Question Id : 71087012228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the increase (in percentage) of the total production of vegetable from the year 2018 to
20197

1. 15.7%
2. 16.1%
3. 19.4%
4, 17.2%
Options :
71087048613. 1
71087048614. 2



71087048615. 3
71087048616. 4

Question Number : 35 Question Id : 71087012229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year the productivity of vegetable is maximum?

1. 2018

2. 2016

3. 2019

4. 2017
Options :
71087048617. 1
71087048618. 2
71087048619. 3
71087048620. 4

Question Id : 71087012224 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



frrafafaa aiftre # fFt e fade & sanfea aferat 1t am @ &) S&<dt adfar siwer
fora mar &1 TfereT & U 7T o & SyYR WX uyi 3 Iy it

ay / el T AR B
2014 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 200 20 &00

Sub questions

Question Number : 31 Question Id : 71087012225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



forg qu / o1 aul H 1] BT IUTGA IHD G IdIe 8 BH a1 2
A, 2016
B. 2014
C. 2015

D. 2017
e fwea T

1. Had A 3R B
2. AU A, B, D
3. ®adC

4. Had C AR D
Options :
71087048601. 1
71087048602. 2
71087048603. 3
71087048604 4

Question Number : 32 Question Id : 71087012226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fg g THIEY & JdIe 998 BH 8 ?

1. 2014
22017
3.2019

4. 2016
Options :
71087048605. 1
71087048606. 2



71087048607. 3
71087048608. 4

Question Number : 33 Question Id : 71087012227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a4 2018 H Gieadl BT bd G [l g ?

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087048609. 1
71087048610. 2
71087048611. 3
71087048612. 4

Question Number : 34 Question Id : 71087012228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a9 2018 DI UM TY 2019 H Gleardl & Hal SdIGH H fbd- Widd 1 3fS g 2

1. 15.7 %
2.16.1 %
3.194 %
4.17.2 %
Options :
71087048613. 1
71087048614. 2
71087048615. 3
71087048616. 4



Question Number : 35 Question Id : 71087012229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frd ad & Heofl BT JAIGH I Halldd ¢ 2

1. 2018

2. 2016
3.2019

4. 2017
Options :
71087048617. 1
71087048618. 2
71087048619. 3
71087048620. 4

Sub-Section Number : 5
Sub-Section Id : 710870385
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087012230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation CD.ROM?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087048621. 1

71087048622. 2

71087048623. 3

71087048624. 4



Question Number : 36 Question Id : 71087012230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T&U1ER CD-ROM ST R AH F1 5 ?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087048621. 1

71087048622. 2

71087048623. 3

71087048624. 4

Question Number : 37 Question Id : 71087012231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Multimedia comprises of

1. Text and Audio

2. Video and Audio

3. Video only

4, Text, Audio and Video
Options :

71087048625. 1
71087048626. 2
71087048627. 3
71087048628. 4

Question Number : 37 Question Id : 71087012231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
A HIST H Ueh & -

1. SR 3R il

2. difegar 3R Aitsal

3. ®ad difsdl

4, de, Hifsal AR difsal
Options :

71087048625. 1
71087048626. 2
71087048627. 3
71087048628. 4

Question Number : 38 Question Id : 71087012232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Information and Communication Technology (ICT) comprises of
A. Online learning

B. Learning through Mobile Application

C. Web based learning

D. All the above

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. D only
4. A only
Options :



71087048629. 1
71087048630. 2
71087048631. 3
71087048632. 4

Question Number : 38 Question Id : 71087012232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G SR UaR et (og df &) H /ibe g -

A 3Hars A
5. AR HTHRH & J1ed U ey
C. aF YT R

D. Iudad it
el f[ddhed &1 999 Bl -

1. Had A 3R B
2. @A A AR C
3. ®ad D

4. Had A
Options :
71087048629. 1
71087048630. 2
71087048631. 3
71087048632. 4

Question Number : 39 Question Id : 71087012233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: E-commerce companies require personal data to serve the stakeholders better
Reason R: In this process, privacy may get compromised

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087048633. 1

71087048634. 2

71087048635. 3

71087048636. 4

Question Number : 39 Question Id : 71087012233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048633. 1

71087048634. 2

71087048635. 3

71087048636. 4

Question Number : 40 Question Id : 71087012234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Python is a/an

A. Programming language

B. Operating system

C. Search engine

D. Snake

Choose the correct answer from the options given below:

1. B only

2. A only

3.B and C only
4. Cand D only
Options :
71087048637. 1
71087048638. 2
71087048639. 3
71087048640. 4

Question Number : 40 Question Id : 71087012234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. ®HaAAB AR C
4. %ad C AR D

Options :

71087048637. 1
71087048638. 2
71087048639. 3
71087048640. 4

Question Number : 41 Question Id : 71087012235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of continents in decreasing order of their yearly carbon dioxide
emissions, at present

A. Africa

B. Asia

C. Europe

D. North America

Choose the correct answer from the options given below

1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :
71087048641.
71087048642.
71087048643.
71087048644.

AW O~

Question Number : 41 Question Id : 71087012235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :

71087048641.
71087048642.
71087048643.
71087048644.

AW O~

Question Number : 42 Question Id : 71087012236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Millennium Development Goals of Global Partnership for Development envisaged making
available the benefits of new technologies - especially which of the following?

1. Information and Communication
2. Artificial Intelligence

3. Nuclear technology

4. Solid waste treatment technology
Options :

71087048645. 1

71087048646. 2

71087048647. 3

71087048648. 4

Question Number : 42 Question Id : 71087012236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048645. 1
71087048646. 2
71087048647. 3
71087048648. 4

Question Number : 43 Question Id : 71087012237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The global emissions (by weight) of following primary pollutants from natural sources are
maximum in the case of

1. Nitric oxide

2. Carbon monoxide
3. Methane

4, Carbon dioxide
Options :
71087048649. 1
71087048650. 2
71087048651. 3
71087048652. 4

Question Number : 43 Question Id : 71087012237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087048649. 1
71087048650. 2
71087048651. 3
71087048652. 4

Question Number : 44 Question Id : 71087012238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il which contain water pollutants and their sources respectively

List | List 11

Water pollutants Sources

A. Oxygen demanding wastes |l. Mine drainage

Il. Modern washing powders and agriculture run-off
B. Plant nutrients

C. Acids lll. Waste incineration and toxic dumps

D. Polychlorinated
biphenyls(PCBs)

Choose the correct answer from the options given below:

IV. Paper mills and food processing units

TA-IV,E-U,C-1l,D-1
2ZA-IVB-LC-II,D-1
SA-IVB-ILC-1,D-1
4 A-IVB-IIILC-1,D-1
Options :

71087048653. 1
71087048654. 2
71087048655. 3
71087048656. 4

Question Number : 44 Question Id : 71087012238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-1,C-1I,D-1
2ZA-IV,B-1,C-1I,D-1
3A-IV,B-1I,C-1,D-1I
4 A-IV,B-NIL,C-1,D-1
Options :

71087048653. 1
71087048654. 2
71087048655. 3
71087048656. 4

Question Number : 45 Question Id : 71087012239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Despite increasing vulnerability to natural disasters many communities resist
adopting mitigation programmes and measures

Reason R: Mitigation is often perceived by communities as being incompatible with their
cultural practices

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087048657. 1

71087048658. 2

71087048659. 3

71087048660. 4

Question Number : 45 Question Id : 71087012239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048657. 1

71087048658. 2

71087048659. 3

71087048660. 4

Question Number : 46 Question Id : 71087012240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The first open university in India was established in the year

1. 1980

2. 1982

3. 1985

4. 1986
Options :
71087048661. 1
71087048662. 2
71087048663. 3
71087048664. 4



Question Number : 46 Question Id : 71087012240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1980
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Options :
71087048661. 1
71087048662. 2
71087048663. 3
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Question Number : 47 Question Id : 71087012241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Asynchronous communication takes place through which of the following technologies?
A. Teleconferencing

B. Virtual classroom

C. Video chat

D. Blogs

E. Discussion boards

F. Vlog

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.D, Eand F only
4.C, D and E only
Options :
71087048665. 1
71087048666. 2
71087048667. 3
71087048668. 4

Question Number : 47 Question Id : 71087012241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087048665 1
71087048666. 2
71087048667. 3
71087048668. 4

Question Number : 48 Question Id : 71087012242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Stages of value development Exemplification of value formation

, . Choosing and imbibing the values one
A. Stage | - Value collection ,
cherishes

ll. Observing and imitating the adult
B. Stage Il - Value assessment . .
behaviours, particularly parents

C. Stage Il - Value clarification lIl. Predictability of human behaviour is assured
D. Stage IV - Value consclidation IV. Finding out gaps in values preached and
practice

Choose the correct answer from the options given below:

TA-ILBE-IWV, C-1I,D-I
2ZA-IVB-NIL,C-I,D-1
SA-ILB-1L,C-1V,D-1I
4 A-ILB-ILC-1,D-1IV
Options :

71087048669. 1
71087048670. 2
71087048671. 3
71087048672. 4

Question Number : 48 Question Id : 71087012242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-IV,C-1I,D-1
2ZA-IV,B-NILC-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-ILB-1I,C-1,D-1IV
Options :

71087048669. 1
71087048670. 2
71087048671. 3
71087048672. 4

Question Number : 49 Question Id : 71087012243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements related to the Upanishadic tradition
Statement I: Paravidya means knowledge that transcends human experience
Statement Il: Aparavidya means knowledge based on the human experience

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

71087048673. 1

71087048674. 2

71087048675. 3

71087048676. 4

Question Number : 49 Question Id : 71087012243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048673. 1
71087048674. 2
71087048675. 3
71087048676. 4

Question Number : 50 Question Id : 71087012244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following Entries of the Indian Constitution deals with coordination and
determination of standards in institutions for higher education or research or scientific and
technical institutions?

1. Entry 63

2. Entry 64

3. Entry €5

4, Entry 66
Options :
71087048677. 1
71087048678. 2
71087048679. 3
71087048680. 4

Question Number : 50 Question Id : 71087012244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Uidf¥ 63

2. Uidiy 64

3. U4y 65

4. Uiy 66
Options :
71087048677. 1
71087048678 2
71087048679 3
71087048680. 4
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Question Number : 51 Question Id : 71087012245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The first mesolithic rock paintings in India were found at:

1. Kathotia

2. Lakhajoar
3. Pitalkhora
4. Sohagighat
Options :
71087048681. 1
71087048682. 2
71087048683. 3
71087048684. 4

Question Number : 51 Question Id : 71087012245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048681. 1
71087048682. 2
71087048683. 3
71087048684. 4

Question Number : 52 Question Id : 71087012246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following Rigvedic rivers is described as 'naditama’ (the river par excellence)?

1. Ganga

2. Drishadvati
3. Saraswati

4, Sindhu
Options :
71087048685. 1
71087048686. 2
71087048687. 3
71087048688. 4

Question Number : 52 Question Id : 71087012246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 71

2. TGl

3. TRl

4, Ty
Options :
71087048685. 1
71087048686. 2
71087048687. 3
71087048688. 4

Question Number : 53 Question Id : 71087012247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The female Alvar Saint Andal was brought up by

1. Nammalvar

2. Kulasekharalvar
3. Periyaalvar

4. Poykaialvar
Options :
71087048689. 1
71087048690. 2
71087048691. 3
71087048692. 4

Question Number : 53 Question Id : 71087012247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. PEIRIER AR
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Options :
71087048689. 1
71087048690. 2
71087048691. 3
71087048692. 4

Question Number : 54 Question Id : 71087012248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Buddha's encounter with the mad elephant Nalagiri, let loose by his jealous cousin Devadatta
took place at:

1. Kapilavastu
2. Kausambi
3. Rajagriha

4. Vaisali
Options :
71087048693. 1
71087048694. 2
71087048695. 3
71087048696. 4

Question Number : 54 Question Id : 71087012248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. Xlg
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Options :
71087048693. 1
71087048694. 2
71087048695. 3
71087048696. 4

Question Number : 55 Question Id : 71087012249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who is regarded as the source of Herodotus for his Indian accounts?

1. Cato, the Elder

2. Hecataeus of Miletus
3. Polybius

4. Xenophon

Options :

71087048697. 1
71087048698. 2
71087048699. 3
71087048700. 4

Question Number : 55 Question Id : 71087012249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafead 4 ¥ o0 elislcd @ YR ARu ST Sid AR Sl & ?

Options :

71087048697. 1
71087048698. 2
71087048699. 3
71087048700. 4

Question Number : 56 Question Id : 71087012250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to Kautilya's Arthasastra, who among the following was responsible for issuing
coins?

1. Lakshanadhyaksha
2. Mudradhyaksha

3. Panyadhyaksha

4. Rupadarsaka
Options :
71087048701. 1
71087048702. 2
71087048703. 3
71087048704. 4

Question Number : 56 Question Id : 71087012250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048701. 1
71087048702. 2
71087048703. 3
71087048704. 4

Question Number : 57 Question Id : 71087012251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The paintings of which one of the following caves of Ajanta are datable to the pre-Christian

erar

1. Cave 16

2. Cave 15

3. Cave 10

4. Cave 1
Options :
71087048705. 1
71087048706. 2
71087048707. 3
71087048708. 4

Question Number : 57 Question Id : 71087012251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Holdl &1 HufiEd U TE U U A S gd Bl d & ?
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Options :
71087048705. 1
71087048706. 2
71087048707. 3
71087048708. 4

Question Number : 58 Question Id : 71087012252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Mahastupa of Nagarjunikonda was built during the reign of which of the following?

1. Abhira King Isvarasena

2. lkshvaku King Chantamula

3. lkshvaku King Virapurushadatta

4. Satavahana King Yajna Sri Satakarni
Options :

71087048709. 1

71087048710. 2

71087048711. 3

71087048712. 4

Question Number : 58 Question Id : 71087012252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048709. 1

71087048710. 2

71087048711. 3

71087048712 4

Question Number : 59 Question Id : 71087012253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The sixteen goddesses of learning (vidyadevis) led by Saraswati enjoy great importance in
which one of the following religious sects?

1. Buddhism
2. Jainism

3. Saivism

4, Vaisnavism
Options :
71087048713. 1
71087048714. 2
71087048715. 3
71087048716. 4

Question Number : 59 Question Id : 71087012253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087048713. 1
71087048714. 2
71087048715. 3
71087048716. 4

Question Number : 60 Question Id : 71087012254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following played the role of a judge in a dance competition described in
Malavikagnimitram?

1. Ganacharya
2. Haradutta
3. Katyayani
4. Kausiki
Options :
71087048717. 1
71087048718. 2
71087048719. 3
71087048720. 4

Question Number : 60 Question Id : 71087012254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. TR

2. glad

3. PTG

4. DIID
Options :
71087048717. 1
71087048718. 2
71087048719. 3
71087048720. 4

Question Number : 61 Question Id : 71087012255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ten Asvamedha sacrifices were performed by the kings of which one of the following
dynasties?

1. Bharasiva

2. Pallava

3. 5unga

4, Vakataka
Options :
71087048721. 1
71087048722. 2
71087048723. 3
71087048724. 4

Question Number : 61 Question Id : 71087012255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafiad 3 ¥ 69 Ioed gR1 &H 949 U3 B TS f&ar 71ar o1 2

1. YRR

2. Yctid

3.9

4. dlhldd
Options :
71087048721. 1
71087048722. 2
71087048723. 3
71087048724. 4

Question Number : 62 Question Id : 71087012256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which Telugu author became famous as ‘Abhinava Dandi * for translating Dandin's
Dasakumaracharita?

1. Ketana

2. Nannaya

3. Srinatha

4, Tikkana
Options :
71087048725. 1
71087048726. 2
71087048727. 3
71087048728. 4

Question Number : 62 Question Id : 71087012256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

&3l & UY GUHHARTRA B SAIC B & HRU b dof] oEd "3H"d 31 ' ¥ § fa=Ad
W

1. B

2. 444

3. 411y

4, fage
Options :
71087048725. 1
71087048726. 2
71087048727. 3
71087048728. 4

Question Number : 63 Question Id : 71087012257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the Dayabhaga school of Law, the son becomes entitled to inherit the ancestral
property

1. As soon as he is born

2. After his father enters into the Sanyasa Asrama
3. After the death of his father

4. After the death of both parents

Options :

71087048729. 1

71087048730. 2

71087048731. 3

71087048732. 4

Question Number : 63 Question Id : 71087012257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

GEHAT fafel S0a®T & SUR 47 Uqgd Uil & STRIUGRI &d §-dl § ?

1. 99 & 91y

2. 19 39 TUd1 T4 314H T80 & &
3. U @1 gg & @I

4. Gl ffHYa®l @I g & 916

Options :

71087048729. 1

71087048730. 2

71087048731. 3

71087048732. 4

Question Number : 64 Question Id : 71087012258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the ruler whose excessive fondness as chewing betel leaf, according to Kalhana, had
badly affected the state economy.

1. Lalitaditya-Muktapida
2. Chandrapida

3. Ananta

4. Harsha

Options :

71087048733. 1
71087048734. 2
71087048735. 3
71087048736. 4

Question Number : 64 Question Id : 71087012258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gl & IR o/ AW B IS UH WH & FEH & DRV I DI IR TR R THIG
TSI Y1, 39 IS BI GgaH Bifod ;

1. AAIG - HadIirs
2. TRIUTS
3. 3Hd

489

Options :

71087048733. 1
71087048734. 2
71087048735. 3
71087048736. 4

Question Number : 65 Question Id : 71087012259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Mulavarmana, who performed Bahusuvarnakam ritual and made a gift of 20000 cows was the
ruler of :

1. Arakan

2. Borneo

3. Java

4, Sumatra
Options :
71087048737. 1
71087048738. 2
71087048739. 3
71087048740. 4

Question Number : 65 Question Id : 71087012259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HoaHH, o agqauied HI8H 691 Ud §1 SR 11 1 GI&T0 &, Il T:

1. ST DI
2. | &

3. wlldl &l

4. HHHET &l
Options :
71087048737. 1
71087048738. 2
71087048739. 3
71087048740. 4

Question Number : 66 Question Id : 71087012260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"Even the picture gallery of China was envious of its architectural charm.” Identify which one of
the following buildings of Qutbuddin Aibak, Hasan Nizami is comparing with?

1. Jama Masjid

2. Qasr-i Safed

3. Qutb Minar

4. Adhai Din Ka Jhonpra
Options :

71087048741. 1
71087048742. 2
71087048743. 3
71087048744. 4

Question Number : 66 Question Id : 71087012260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I @1 [ 31l ol 3% ag Fara® died & 9 Bis] 411 g8 Fer 98 9o $aggH
US% o bg Ha- & 1Y P IET 87

1. S 1&g

2. $9-U gbg

3. Bgd HIAR

4. 3{eTS & BT HaST
Options :
71087048741. 1
71087048742. 2
71087048743. 3
71087048744, 4

Question Number : 67 Question Id : 71087012261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Which of the following writers mentions about two pillars of Asoka brought to Delhi by Sultan
Firuz Tughlaq that, "Thousand of men, from mere labourers to artisans and engineers of the
highest type were employed. Raw hides and reeds were wound round the pillar to prevent it
from breaking.”

1. Zia ud din Barani
2. lsami

3. Iba Battuta

4. Shams-i Siraj Afif
Options :
71087048745. 1
71087048746. 2
71087048747. 3
71087048748. 4

Question Number : 67 Question Id : 71087012261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

afeiRad 5 9 forg ciad - GeaH B ga® gR1 fGeeil aIg 7T SH2ii® & & Tl &1 I
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1. fomagg A sl

2. 2

3. 38 S

4, YU RIS e
Options :
71087048745. 1
71087048746. 2
71087048747. 3




71087048748. 4

Question Number : 68 Question Id : 71087012262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Dalail-i Firuzshahi, which was translated from Sanskrit into Persian, was related to which of the
following subjects?

1. Administration
2. Health

3. Astrology

4. Economy
Options :
71087048749. 1
71087048750. 2
71087048751. 3
71087048752. 4

Question Number : 68 Question Id : 71087012262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Galsd - U heeg], e Uhd 4 BRYT H Hdig a1 71491 o, Fafaiad 4 © feg e ¥
Tafdd Uiz

1. U4

2 W

3. iy

4 fogaw
Options :
71087048749. 1
71087048750. 2



71087048751. 3
71087048752. 4

Question Number : 69 Question Id : 71087012263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who in the fifteenth century built the famous Victory Tower sculptured with Hindu pantheon
of deities surmounted by the name "Allah’ carved many times in excellent Arabic calligraphy at
Chittor?

1. Rana Kumbha
2. Rana Sanga
3. Rana Mokal
4. Rana Pratap
Options :
71087048753. 1
71087048754. 2
71087048755. 3
71087048756. 4

Question Number : 69 Question Id : 71087012263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fgfafaa o O fogq deedl Tl | foxdie o ufts favm womy &1 fRafu seam o o R fag,
&dt Caaredt @1 gfcal & Y SPY R4l god | ds aR Hwe JHihd § 2

1. IO H#HT
2. IO 9T

3. 0T Hidhd
4. Ul Udy
Options :




71087048753. 1
71087048754. 2
71087048755. 3
71087048756. 4

Question Number : 70 Question Id : 71087012264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Akbar formulated dastur rates under the zabt system. What did dastur rates denote?

1. Cash revenue rates

2. Yields per bigha

3. Summary assessment
4, Standard schedule rate

Options :

71087048757. 1
71087048758. 2
71087048759. 3
71087048760. 4

Question Number : 70 Question Id : 71087012264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e - SIad YUITTH & ded GRiX &Y HURd &1 SR a2 3 o1 =g o2

1. @G JoTed T3
2. U <ftgn UgaR
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Options :

71087048757. 1
71087048758. 2
71087048759. 3
71087048760. 4

Question Number : 71 Question Id : 71087012265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following emperors substituted human figures for the pieces of chaupar and
turned it into the amazing game of Chandal-Mandal?

1. Babar

2. Humayun
3. Akbar

4. Jahangir
Options :
71087048761. 1
71087048762. 2
71087048763. 3
71087048764. 4

Question Number : 71 Question Id : 71087012265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafafad o ¥ fg areane - dius O miedl &1 ST Yolld 9Fd &1 UaRT T $iR 34 9ar9 -
Hed A faoEe W J gga faar ?

1. 9T
2.8,
3. DHaER
4, WghiiR




Options :

71087048761. 1
71087048762. 2
71087048763. 3
71087048764. 4

Question Number : 72 Question Id : 71087012266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following paintings attributed to Mir Sayyid Ali, was painted by him before he
entered Humayun's employment?

1. A Young Prince Riding
2. Cow and Calf

3. School Scene

4. A Manuscript Atelier
Options :

71087048765. 1
71087048766. 2
71087048767. 3
71087048768. 4

Question Number : 72 Question Id : 71087012266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gAY & SER § Fgad 8 9 ugd HR Jug el 7 U1 1 91 o sman o 2

1. 3 41 =g i
2. B LS Ph

3. Td g9+

4. 3 BREpY R

Options :



71087048765. 1
71087048766. 2
71087048767. 3
71087048768. 4

Question Number : 73 Question Id : 71087012267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Where was the following mission dispatched by Akbar to induce the famed singer-musician
Tansen to come to the Mughal court at Agra?

1. Kalinjar

2. Gwalior

3. Mandu

4, Jaunpur
Options :
71087048769. 1
71087048770. 2
71087048771. 3
71087048772. 4

Question Number : 73 Question Id : 71087012267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HER M FiddR dH-EH S HTRI & Hd aaR H dH & O1U 3idher 3 30 gd (FRE)
RIS AR U R E R

1. PR

2. TG

3.9lg
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Options :




71087048769. 1
71087048770. 2
71087048771. 3
71087048772. 4

Question Number : 74 Question Id : 71087012268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Khulasat-us Siyag mentions the regulations about the clan compaosition of the troopers to be
presented for muster by the nobles. In this regard, which of the following is NOT correct?

1. Mughal nobles of Transoxiana who had come before 24rth R.Y. of Aurangzeb were to
present only Mughals

2. Sayyids and Shaikhzadas were to recruit from their own races, but the Rajputs and Afghans
were not to exceed one-sixth

3. Afghan nobles were to have two-thirds of Afghans and one-third of other races

4. Rajput nobles were to have one-third of troops from their own race and two-thirds from
other races

Options :

71087048773. 1

71087048774. 2

71087048775. 3

71087048776. 4

Question Number : 74 Question Id : 71087012268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087048773. 1
71087048774. 2
71087048775. 3
71087048776. 4

Question Number : 75 Question Id

: 71087012269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which of the following was NOT the Panchasakha Vaishnava?

1. Balarama Dasa
2. Achyutananda
3. Yasovanta

4. Jagannatha
Options :
71087048777. 1
71087048778. 2
71087048779. 3
71087048780. 4

Question Number : 75 Question Id

: 71087012269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Fafaiad 5 9 @ UgaeEl duE 981§ 2
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Options :

71087048777. 1

71087048778. 2

71087048779. 3
71087048780. 4

Question Number : 76 Question Id : 71087012270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The institution of purdah was to the exclusion of na-mahram. Which of the following was
meant by the term na-mahram?

1. All people of opposite sex

2. People of same sex

3. All people belonging to the same gotra
4. Those who can legally marry

Options :

71087048781. 1

71087048782. 2

71087048783. 3

71087048784. 4

Question Number : 76 Question Id : 71087012270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
UG &I UYT AT - HE3H Bl 3o T8 & fog 0| Fgfeiad & 9 =1 983 &1 921 212y &1 412

1. faudia foir & ot aafda

2. a1 fein o gl aafdd

3. 99H 7F & 9 Afdd

4. 9 U9 § 3u1® w9 4 f3ag o 964 o
Options :

71087048781. 1

71087048782. 2

71087048783. 3

71087048784. 4

Question Number : 77 Question Id : 71087012271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

To which region belong the forms of folk performances - Khel, Lavani, Goudhal and Tamasha?

1. Bengal

2. Tamil Nadu

3. Andhra Pradesh
4, Maharashtra
Options :
71087048785. 1
71087048786. 2
71087048787. 3
71087048788. 4

Question Number : 77 Question Id : 71087012271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T, AT, T 3R THIRN Aid-ed by &7 3 Tadd g ?

1. §9ITCT

2. dHTg

3. 3Ty G

4. HelR1¥
Options :
71087048785. 1
71087048786. 2
71087048787. 3
71087048788. 4

Question Number : 78 Question Id : 71087012272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

With which Indian playwright, realism in urban theatre reached a new climax?

1. Girish Chandra Ghosh
2. Jayshankar Prasad

3. Mohan Rakesh

4, Girish Karnad
Options :

71087048789. 1
71087048790. 2
71087048791. 3
71087048792. 4

Question Number : 78 Question Id : 71087012272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g YR AehdR & Ty el TTHT H gurdre AU TRA@®Y UR Ugd 1 ?

1. = 9% 9w
2. ST UHG
3. Hig JH

4. TR ®Ars
Options :
71087048789. 1
71087048790. 2
71087048791. 3
71087048792. 4

Question Number : 79 Question Id : 71087012273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who wrote the following words regarding the social change in the nineteenth century?

"All progress in social liberation tends to be a change from the law of status to the law of
contract, from the restraints of the family and caste customs to the self - imposed restraints of
the free will of the individual.”

1. Keshub Chandra Sen

2. Surendranath Banergea
3. Mahadev Govind Ranade
4, Swami Vivekanand
Options :

71087048793. 1
71087048794. 2
71087048795. 3
71087048796. 4

Question Number : 79 Question Id : 71087012273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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2. Gl A1y guil
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4. Wl [gadHg
Options :
71087048793. 1
71087048794. 2
71087048795. 3
71087048796. 4

Question Number : 80 Question Id : 71087012274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Satyashodhak Samaj was founded in 1873 by

1. Jyotiba Phule

2. G. K. Gokhale

3. Anandibai Joshi
4, Pandita Ramabai
Options :
71087048797. 1
71087048798. 2
71087048799. 3
71087048800. 4



Question Number : 80 Question Id : 71087012274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. Sitap. ac gRI

3. SfFGIETg Sl gRI
4. Ui Sd1 THETS gRI
Options :
71087048797. 1
71087048798. 2
71087048799. 3
71087048800. 4

Question Number : 81 Question Id : 71087012275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The author of Birangana Kabya (1862) is

1. Michael Madhusudan Dutt
2. Rabindranath Tagore

3. Subramania Bharati

4. Raja Rammohun Roy
Options :

71087048801. 1

71087048802. 2

71087048803. 3

71087048804. 4

Question Number : 81 Question Id : 71087012275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G BT’ (1862) P TSP o
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2. TElgATY SR
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4, 37T M A 1™
Options :
71087048801. 1
71087048802. 2
71087048803. 3
71087048804. 4

Question Number : 82 Question Id : 71087012276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who wrote a delightful autobiography - Amar Jiban (My Life) in 18767

1. Rassundari Devi

2. Kailasbasini Devi

3. Swarnakumari Devi
4. Kadambini Ganguly
Options :
71087048805. 1
71087048806. 2
71087048807. 3
71087048808. 4

Question Number : 82 Question Id : 71087012276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



4 1876 H W Gia-7 THD G MHBY feae ferdt iz

1. TG Gl

2. SaTRETaHT St
3. TaufGHTt ¢t
4, PTG T
Options :
71087048805. 1
71087048806. 2
71087048807. 3
71087048808. 4

Question Number : 83 Question Id : 71087012277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What was the main contention in the Rukhmabai case (1884-1887)7

1. Penalizing female infanticide

2. Women's right to university education

3. Women's right to inheritance of property
4. Restitution of conjugal rights

Options :

71087048809. 1

71087048810. 2

71087048811. 3

71087048812. 4

Question Number : 83 Question Id : 71087012277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. =1 Y g1 & forw Efsd &<

2. faufaeer & afgarsti o fRian o1 sfiaR
3. Yk & SRIE®R § Aigars & HfUHR
4. difed DRI &I GA-UfARG

Options :

71087048809. 1

71087048810. 2

71087048811. 3

71087048812. 4

Question Number : 84 Question Id : 71087012278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Whose style of painting blended traditional iconography with realistic features, displaying the
influence of contemporary naturalist styles modelled on victorian art?

1. Abanindranath Tagore
2. Amrita Shergill

3. Raja Ravi Varma

4. Rabindranath Tagore
Options :

71087048813. 1
71087048814. 2
71087048815. 3
71087048816. 4

Question Number : 84 Question Id : 71087012278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



et Emar il # g faRuars & 9y WRETd ufaHr fagm & g
o faaciial ool 3 GHaHGS Upidarc el ®1 Fe=i- fbar T

1. SEIGATY ¢TR
2. 3Hdl A

3. ITa7 3G g4t

4, T2y SR
Options :
71087048813 1
71087048814, 2
71087048815. 3
71087048816. 4

Question Number : 85 Question Id : 71087012279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Hindu Code Bill drafted by Dr B.R. Ambedkar advocated which one of the following?

1. Education for women

2. Temple entry for women

3. Upliftment of untouchables
4. Property rights for women
Options :

71087048817. 1

71087048818. 2

71087048819. 3

71087048820. 4

Question Number : 85 Question Id : 71087012279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



S1a1LHR A SH gRI U 1Ud fg-g dis fad | FafeRad # 9 fog o gae= faar mar ure

1. Afeasf &1 fan

2. Afgarsi & o d@feéx ya=

3. 3@dl Bl UM

4, Afgenaf & T 4ol & aifeeR
Options :

71087048817. 1

71087048818. 2

71087048819. 3

71087048820. 4

Question Number : 86 Question Id : 71087012280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The 'Self-Respect’ Movement was initiated by

1. C. Rajagopalachari

2. Motilal Nehru

3. B. R. Ambedkar

4. E. V. Ramaswamy Naicker
Options :

71087048821. 1
71087048822. 2
71087048823. 3
71087048824. 4

Question Number : 86 Question Id : 71087012280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SHTH-THT 3G Ia Y foam T or:

1. Tl ASFIUIAERT §R1

2. AidTad Je®

3. 1.3 IFHSH gRI

4, 3 J IERaE AEL gRI
Options :

71087048821. 1
71087048822. 2
71087048823. 3
71087048824 4

Question Number : 87 Question Id : 71087012281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which Rajput ruler of Amber founded the city of Jaipur?

1. Raja Mansingh

2. Raja Hamir Mal

3. Raja Jaichandra Rathod
4. Raja Sawai Jai Singh
Options :

71087048825. 1
71087048826. 2
71087048827. 3
71087048828. 4

Question Number : 87 Question Id : 71087012281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HER @ [y ISy LTS - SR e B RG] B ?

1. Trall HH &g

2. ISl gHR |

3. 3ol SEdg 8IS
4, IS |41 oig g
Options :
71087048825. 1
71087048826. 2
71087048827. 3
71087048828. 4

Question Number : 88 Question Id : 71087012282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

From among the following, who does NOT belong to the Subaltern Studies Collective?

1. Gayatri Spivak-Chakravorty
2. Bipan Chandra

3. Partha Chatterjee

4. Dipesh Chakrabarty
Options :

71087048829. 1

71087048830. 2

71087048831. 3

71087048832. 4

Question Number : 88 Question Id : 71087012282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad 5 o o Iuydt (SaleeH) g g J Grfed g1 8 ?

1. TR FeaaT® gsai
2. fau <ig

3. Oy e

4, SUR Tehadl
Options :
71087048829. 1
71087048830. 2
71087048831. 3
71087048832, 4

Question Number : 89 Question Id : 71087012283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which city was the first Gandharva Mahavidyalaya founded by Vishnu Digambar Paluskar in
19017

1. Pune

2. Nagpur

3. Baroda

4, Lahore
Options :
71087048833. 1
71087048834. 2
71087048835. 3
71087048836. 4

Question Number : 89 Question Id : 71087012283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1901 H [ &R Ueeh gIR1 UUH ied Hglidaicy i ®IYH1 fhod TeR H ol 14t 4 7

190

2. AFTYL

3. goral

4. TER
Options :
71087048833. 1
71087048834. 2
71087048835. 3
71087048836. 4

Question Number : 90 Question Id : 71087012284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following officials was NOT concerned with Sultan Alauddin Khalji's market
control measures from whom Alauddin used to receive daily reports about the grain market?

1. Shahna - i Mandi
2. Barid

3. Munhis

4, Sera - 1 Adl
Options :
71087048837. 1
71087048838. 2
71087048839. 3
71087048840. 4

Question Number : 90 Question Id : 71087012284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FofeRad & O @F 91 SfeR St Tdel & areR &f T $3- o o fhd T2 34
FUl, o8 SATSE oI 3 Hal @i Ui U ®ar oT, § Gafid Te! o1 2

1. AEA1-T {3l
2. &g

3. {fed

4. TR1-U 3fgd
Options :
71087048837. 1
71087048838. 2
71087048839. 3
71087048840. 4

Question Number : 91 Question Id : 71087012285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are Chalcolithic culture sites of West Bengal?
A. Chandoli

B. Kayatha

C. Mahishdal

D. Pandu Rajar Dhibi

Choose the correct answer from the options given below :

1. A and B only
2. B and C only
3.Cand D only
4. D only
Options :



71087048841. 1
71087048842. 2
71087048843. 3
71087048844. 4

Question Number : 91 Question Id : 71087012285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fgfafad o O ©H Ui §1e & dHRY S TReide -d 87
A . dgrel

B . Iyl

C . gfgugd
D . Uig IR fedl
I 50 T2 faseul 4 et 9k &l 99 &1 ;

1. Had A 3R B
2. HaAB AR C
3. ®ad C 3R D
4, HFA D
Options :
71087048841, 1
71087048842 2
71087048843, 3
71087048844 4

Question Number : 92 Question Id : 71087012286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following formed part of amusements of the Harappan people?
A. Chess

B. Dice

C. Dance

D. Hunting

Choose the correct answer from the options given below:

1. A, B only

2. B, C only

3. A, B, Conly
4 A B CD
Options :
71087048845. 1
71087048846. 2
71087048847. 3
71087048848. 4

Question Number : 92 Question Id : 71087012286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ESW & ANl & HEidRgd § 9 ®H 9 FARoH & 9 4 ?
A TR

B. Ul

C.5 I
D. 3de

A T&u 1T fawmedl O U8l IR &1 90 & -

1. Had A 3R B

2. HaAAB AR C

3. @A A, B AR C
4. A B,C3HRD
Options :
71087048845, 1
71087048846. 2
71087048847. 3
71087048848. 4

Question Number : 93 Question Id : 71087012287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are NOT included in the standard list of "Vedangas' (limbs of the
Vedas)?

A. Kalpa
B. Siksha
C. Samhita
D. Sutra

Choose the most appropriate answer from the options given below :

1. A and B only
2. B and C only
3.Cand D only
4. D only
Options :
71087048849. 1
71087048850. 2
71087048851. 3
71087048852. 4

Question Number : 93 Question Id : 71087012287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad # 9 o dein $ AFe g4l | 9 181 8§ 2
A. Y
B. farem
C. fed

D.
I o T fadcal § O el SR &1 994 &

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. Had D
Options :
71087048849. 1
71087048850. 2
71087048851 3
71087048852. 4

Question Number : 94 Question Id : 71087012288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The traces of earliest temples have been found at which of the following places?
A. Bairat

B. Deogarh

C. Jandial (Takshasila)

D. Martand (Kashmir)

Choose the most appropriate answer from the options given below :

1. A and B only
2. A and C only
3.Cand D only
4. B and D only
Options :
71087048853. 1
71087048854. 2
71087048855. 3
71087048856. 4

Question Number : 94 Question Id : 71087012288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafeRad # € - wadl R geiHae #iexl & g Ha g 2
A. SRTE

B. GaTG

C. SfSTTe (deff=re)

D. A0S (@RHR)
I o o foeeul § 9 98l SR &1 9 &

1. Had A 3R B
2. Had A AR C
3. ®ad C 3R D
4. HaAB 3R D
Options :
71087048853. 1
71087048854. 2
71087048855. 3
71087048856. 4

Question Number : 95 Question Id : 71087012289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Image Identification

A. Chauri-bearing Image l. Didarganj
Il. Lohanipur

B. Gandhara Buddha Image

C. Mathura Buddha Image lll. Schist stone

D. Stone image torso of a nude figure V. Spotted red stone

Choose the correct answer from the options given below

TA-ILB-U,C-1V,D-I
2ZA-LB-N,C-IV,D-1
SA-ILB-IV,C-1,D-1I
4 A-LB-ILC-I,LD-1V
Options :

71087048857. 1
71087048858. 2
71087048859. 3
71087048860. 4

Question Number : 95 Question Id : 71087012289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -1 gfcHr Tl -1l UgdH

A, IR & 1Y Al RAFE]

B. TR g5 Uil 1. TABHIGR

C. BT §g Ufcar 11 TR TR

D. 99 Y5 () dTell T&R Ui v. feileR @1d UeRr
d fgu e fadedl & © wel 3w g :

T.A-ILB-I,C-1V,D-I
2ZA-1,B-N,C-IV,D-1I
3A-ILB-IV,C-1,D-1I
4 A-1L,B-ILC-1I,D-1IV
Options :

71087048857. 1
71087048858. 2
71087048859. 3
71087048860. 4

Question Number : 96 Question Id : 71087012290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Sangam literature speaks of Yavanas living in which of the following seaport towns?
A. Korkai

B. Mamallapuram

C. Puhar

D. Surparak

Choose the correct answer from the options given below :

1. A and B only

2. B and C only
3.A,Band Conly
4.B.,Cand D only
Options :
71087048861. 1
71087048862. 2
71087048863. 3
71087048864. 4

Question Number : 96 Question Id : 71087012290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TH Hifew # [afiad 5 ¥ fo da3e 2’ H ga-1 & IuiRUfd &l Scoia § 2
A BRE

B. ATHCTYRY
C.GER

D. WIR®
=i U 7 famedl O 98l ST &1 904 &

1. Had A 3R B

2. HaAAB AR C

3. @A A, B AR C
4. HadA B, C AR D
Options :
71087048861 1
71087048862. 2
71087048863. 3
71087048864. 4

Question Number : 97 Question Id : 71087012291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The rulers of which of the following ancient kingdoms supported the cult of Pattini, the divine
chaste wife?

A. Chera
B. Chola
C. Pandya
D. Singhala

Choose the most appropriate answer from the options given below:

1. A and B only
2.Cand D only

3. A, Band Conly
4. B, Cand D only
Options :
71087048865. 1
71087048866. 2
71087048867. 3
71087048868. 4

Question Number : 97 Question Id : 71087012291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafaa # 9 fog U= 9 & 9@ gl ger @fagdn) Uy ST aada dd 9 2
A TR
B. T

C.Uisg
D. [¥igd
= fau e faseal & ¥ OE IR &1 90 ®e

1. Pad A 3R B
2. ®ad C 3R D

3. @A A, B AR C
4. HadA B, C AR D
Options :
71087048865. 1
71087048866. 2
71087048867. 3
71087048868. 4

Question Number : 98 Question Id : 71087012292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following places has yielded life-size portrait statues of the Saka - Kushana
kings?

1. Kausambi
2. Mathura
3. Sarnath
4, Sravasti
Options :



71087048869. 1
71087048870. 2
71087048871. 3
71087048872. 4

Question Number : 98 Question Id : 71087012292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafaiad o O forg =M IR 2% - U0 XM9a] &1 SfeH®E Jiadl [Hei @ 2

1. DI

2.
3. GRATY

4, YTa&il
Options :
71087048869. 1
71087048870. 2
71087048871. 3
71087048872. 4

Question Number : 99 Question Id : 71087012293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following wrote commentaries on the Manusmriti?
A. Kulluka

B. Govindaraja

C. Medhatithi

D. Vishvarupa

Choose the most appropriate answer from the options given below:

1. A and B only

2. A and C only
3.A,Band D only
4. A, BandC only
Options :
71087048873. 1
71087048874. 2
71087048875. 3
71087048876. 4

Question Number : 99 Question Id : 71087012293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafcied | € o agwid R A fordl di?
A. DD

RGNS

C. Hefafy

D. fa%Fy

i< f&u 72 fasheal O gl SR &1 90 DY

1. Had A 3R B

2. Had A AR C

3. ®AA A, B AR D
4. HAAA, B3R C
Options :
71087048873. 1
71087048874. 2
71087048875. 3
71087048876 4

Question Number : 100 Question Id : 71087012294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following commentaries were written by Buddhaghosha?
A. Madhurathavilasini

B. Manorathapurani

C. Samantapasadika

D. Sumangalavilasini

Choose the correct answer from the options given below

1. A, B only
2.C, D only
3.B,C, D only
4. A, B, Conly
Options :
71087048877. 1
71087048878. 2
71087048879. 3
71087048880. 4

Question Number : 100 Question Id : 71087012294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafaiad § &F W eigdU (@l ) §SUN gRI o/l 11 7
A, ARG

B. HHRY YRl
C. GHaugIGsH

D. gHTAfaeHT
= fau e faseal & ¥ OE IR &1 90 ®e

1. Had A 3R B

2. ®ad C 3R D

3. ®aAB, C3RD
4. HAAA, B3R C
Options :
71087048877. 1
71087048878. 2
71087048879. 3
71087048880. 4

Question Number : 101 Question Id : 71087012295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following Gupta rulers issued 'Chakradhvaja’ type of coins?
A. Kachagupta

B. Chandragupta Il

C. Kumaragupta |

D. Skandagupta

Choose the correct answer from the options given below:

1. A only

2. A, B only

3. B, C only

4. B, D Only
Options :
71087048881. 1
71087048882. 2
71087048883. 3
71087048884. 4

Question Number : 101 Question Id : 71087012295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad 5 O fog /o T Iea! = Ihas TR & [Gadh R1 e o 2
A. BT

B. I fgdig

C. PHRE UUH

D. TG

i< fau 7Y fasedl ¥ 9el STk &1 981 DY -

1. Had A

2. Had A 3R B
3. ®HaAAB AR C
4. HaAB 3R D
Options :
71087048881. 1
71087048882. 2
71087048883. 3
71087048884, 4

Question Number : 102 Question Id : 71087012296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following structures are apsidal in plan?

A. Dharmaraja Rath, Mamallapuram

B. Nakul-Sahadeva Rath, Mamallapuram

C. Durga Temple, Aihole

D. Meguti Temple, Aihole

Choose the correct answer from the options given below:

1. A, B only

2. B, C only

3. A, Conly

4. B, D only
Options :
71087048885. 1
71087048886. 2
71087048887. 3
71087048888. 4

Question Number : 102 Question Id : 71087012296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frfaiaa & 9 o Seamist &t gieFT SegaeR (UEsy) 32
A, UERTE Y, AR

B. 7P -HUgad Y, AHTIIRH

C. gl HieR, Ugia

D. Al Hig, Uglal

=i g 7Y faepeal O Hel SR &1 9u o -

1. Had A 3R B
2. HaAAB AR C
3. @A A AR C
4. HaAB 3R D
Options :
71087048885. 1
71087048886. 2
71087048887. 3
71087048888. 4

Question Number : 103 Question Id : 71087012297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



With regard to Sultan Bahlul Lodi's polity, which of the following statements are correct?

A. He did not maintain any personal guards, which was in conformity with the Afghan
tradition

B. His food was not prepared in his palace but was sent, in rotation by the nobles

C. Mushtagi says, "He did not sit on the throne in the presence of the nobles and forbade
them to stand”

D. He did not hold the darbar every day
Choose the correct answer from the options given below:

1. A and D only
2.A,Band Conly
3.A,Cand D only
4. A,Band D only
Options :
71087048889. 1
71087048890. 2
71087048891. 3
71087048892. 4

Question Number : 103 Question Id : 71087012297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g gedld digl @1 doodaI & e & Fif@d f 4 e 4 sy 9d 6 7
A, 3G I GIUR] DI UTeH B gU HUH Dlg (ol 3RE® gl 79|

B. 3U®I WHT 39 Hed H el adT YT Sfcth HRI gRT IR-aRT T YT SrdT 9T

C. JRAT®! Hedl & T8 SERI B SuUld & figray IR el 9o U 3R 3% @s1 36+ I 5
BT UTI"

D. T8 el GIaR ol Tdr 4Tl
i 5T U fa@cal O 981 ST @ 90 &

1. Bad A AR D
2. BAAA, B3R C
3. ®aAA A, C3HRD
4. HAAA B3R D
Options :
71087048889. 1
71087048890. 2
71087048891 3
71087048892. 4

Question Number : 104 Question Id : 71087012298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about the medieval cities of India?

A. The prominent medieval cities of India were generally located on the banks of rivers. The
rulers and their nobles occupied river banks

B. However, most medieval cities were not situated on the outer bend of the river so that the
city could expand on both sides along the riverbank

C. The city of Vijayanagara was situated on the inner bend of the river, thus practically
preventing expansion on both sides

D. The Vijaynagara palace was located in the folds of rocky mountains
Choose the correct answer from the options given below:

1. A and B only

2. A, Cand D only
3. A, Band Conly
4. B, Cand D only
Options :
71087048893. 1
71087048894. 2
71087048895. 3
71087048896. 4

Question Number : 104 Question Id : 71087012298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



R & A TaH el & gay H Fufifea d 4 - 4 Sy= Ui g 7

A. HRd o UHE HADIH g AHAR W Al & fb=R 99 gu U1 Aicdi & d¢ IR AEa! 3R
il @ farg o |

B. Tifch1 SATGIaR HADICIH WeR A6l & YAG! & aled 3R aRyd ol oid 4, dlfd eR @I
%R dc & Tl 3R 51 9 |

c. ooTR TeR 78 & il TR W 3afyd o1, 39t 39@T hard Gl 3R 3aeG g3l

—

D. faSi-"R Hgd Uyiid Uers! & Hed &1 a1 T
id g 2 fadedl 4 Te! IR @l 9 &Y -

1. Had A 3R B

2. ®@ad A, C 3R D
3. @A A, B AR C
4. HadA B, C AR D
Options :
71087048893 1
71087048894. 2
71087048895. 3
71087048896. 4

Question Number : 105 Question Id : 71087012299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct?

A. Babur describes the palaces of the Gwalior Fort, praising especially those which were built
by Man Singh Tomar

B. Babur was astonished at the ability of Indian masons to inlay and bond pieces of coloured
stones without the use of mortar

C. Babur did not like the architecture of the Central Asian city of Samarkand
D. Babur built mosques at Panipat and Sambhal
Choose the correct answer from the options given below :

1.A,Band D only
2.A,Band Conly
3. A and D only

4. B and C only
Options :
71087048897. 1
71087048898. 2
71087048899. 3
71087048900. 4

Question Number : 105 Question Id : 71087012299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafEd 4o 4 T 981§ 2

A, STeR = Ta1feiR o fdocl o Agdl &I aui- [hdl &, WEER 3+ [oedl &I dRIE @I 6, ol g
R g §49914 7Y ¥

B. TaR f&H1 TIRT -gAT & TH YRl & <l ol SisA 3R 98 & YR Ieiafedl o
HIfaferad i o@ &Y didd YTl

C. STaR A U & g FHRHG B argddl DI UHE ol ddl Ul
D. 6% 7 UHTUd R 9yd ¥ Afee §7a1s |
i &g T fgaeyl ¥ |t SR &1 98 e -

1. Had A, B3R D
2. HAAA B3R C
3. ®ad A AR D

4. HAAB 3R C
Options :
71087048897. 1
71087048898. 2
71087048899. 3
71087048900. 4

Question Number : 106 Question Id : 71087012300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Regarding the Sikh Gurus, which of the following statements are correct?
A. The Guru Granth Saheb, the scripture of the Sikhs, was compiled by Guru Arjan in 1604

B. It includes compositions of the Sikh Gurus as well as of Shaikh Farid, Namdev, Kabir,

Ravidas and other saints

C. At least till the beginning of the seventeenth century, there was a strong sense among Guru
Nanak's followers that they belong to a general monotheistic movement

D. Aline of Gurus or spiritual successors to Guru Nanak was established
Choose the correct answer from the options given below:

1. A, Cand D only
2. B and C only
3.AB,CD

4. B, Cand D only
Options :
71087048901. 1
71087048902. 2
71087048903. 3
71087048904. 4

Question Number : 106 Question Id : 71087012300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



firg Teaff & Uy § FEfafed § € oF ¥ Sy 98l o
A, Togl & yHY 715 Uy Ied @l Adbad 1604 H T[% 3o - fdar 41

B. 3UH 1iRg TReal @ T3l & TIY-1Y 2R Bilg, AHcd, daR fdar 3R =1 Hdl &l Y
It mfa g

C. ®H U $H TAed! Udlea] & URH T % AHD &b SHAIA] H I8 T¢ HIa-T1 41 &1 d U Ui
THHRAG! e O defd U

D. AF® & AN ES ITRIYBIRGS AT T[] &1 U 3-JsvH MU 81 7147 41|
- 76U T [q@edl H ¥ T8l IR &l 99 ®e

1.%ad A C 3R D
2. HaAAB AR C
3.A B C3RD

4. HadA B, C AR D
Options :
71087048901 1
71087048902. 2
71087048903. 3
71087048904. 4

Question Number : 107 Question Id : 71087012301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are correct with regard to Rajavinoda?
A. It was written in Sanskrit by Kalyan Mal
B. It was prepared at the court of the Muzaffarid Sultan Mahmud Begada of Gujarat

C. The text applauds the deeds of the king by comparing him with epic heroes like Bhima,
Arjuna and Karna

D. In the text, the ruler is represented as Chakravartin (Universal King) and who is well versed
in both politics (Naya) and acting (Abhinaya)

Choose the most appropriate answer from the options given below:

1. A and B only
2.B, Cand D only
3.A,Band Conly
4. A and C only
Options :
71087048905. 1
71087048906. 2
71087048907. 3
71087048908. 4

Question Number : 107 Question Id : 71087012301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IEfaHG & S B Fetfa f e s T Sy agi & 2
A. U8 T¥dd H &edur Jd g fafad &

B HDI Tia T[eRTd & HOHhRG gadlH AgHE TSl & GlaR | gal|
C. T8 WY A1 o Bl &1 U= H 3! a1 Helhlodid -] HiH, 3 iR ®of § S5

D. 39 UY H UMD ®I gsbaia- (AaHIHd e & FU H R T g 9yl o IeHId ([@d) AR
HiFg eFf 5 Uea g

I &g U A eal ¥ 9at SR &l 9 B

1. Had A 3R B

2. @A B, C3RD
3. @A A, B AR C
4. HAAA 3R C
Options :
71087048905. 1
71087048906. 2
71087048907 3
71087048908. 4

Question Number : 108 Question Id : 71087012302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



One of the most important functions of an ijaradar in the 18 century was to make agricultural
credit (tagavi). Tagavi was generally given :

A. For seeds

B. For cultivation

C. Without stating any purpose

D. To pay cesses

Choose the most appropriate answer from the options given below

1.A,Band D only
2.A,Band Conly
3.B, Cand D only
4. Cand D only
Options :
71087048909. 1
71087048910. 2
71087048911. 3
71087048912. 4

Question Number : 108 Question Id : 71087012302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



3BRed! Ual § SURIGR! @ U 0 Y $i4 U (dddl) o1 Y| domdl T8 w0 § 69 o
o ferg e < ur?

A. die o fe1g

B. S[cllg & g

c. {51 15 Se=g 9d¢

D. 3{ddTd & & T

i< g faeeal # 4 9! STk &l 98+ oY

1. ®dd A B3R D
2. BAUA, B AR C
3. $ad B, C 3R D
4, &3 C AR D
Options :
71087048909. 1
71087048910. 2
71087048911. 3
71087048912. 4

Question Number : 109 Question Id : 71087012303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following features are correct descriptions of Shahr - ashob?

A. The Urdu phrase for the grief felt for a city

B. Poems describing the grandeur of the Mughal court

C. Poems composed about the Mughal decline in the eighteenth and nineteenth century
D. Compositions made by Wajid Ali Shah

Choose the correct answer from the options given below :

1. A and C only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087048913. 1
71087048914. 2
71087048915. 3
71087048916. 4

Question Number : 109 Question Id : 71087012303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



frafefad o 9 o A faxivd 263 -u =il & ¥l auH &7
A. fordll 21eR & foe #e g™ fow 7Y <ie & forg S araaia|

B. HATC] GXER B Hodl B dui- - alcll didar|

C. 3BRedl 3R 3AHdl Taleg! & HIe UaH & aR H IId didand|
D. gTfolG 37ci =018 Pf I |

i 12U 7Y faeul # 981 IR &1 99 B

1. HaA A 3R C
2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087048913 1
71087048914. 2
71087048915. 3
71087048916. 4

Question Number : 110 Question Id : 71087012304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From among the following poets, who used the Urdu literary genre - Shahr Ashob?
A, Allama Igbal

B. Mirza Rafi 'Sauda’

C. Mir Tagi ‘Mir’

D. Kazi Nazrul Islam

Choose the correct answer from the options given below :

1. A and D only
2. B and C only
3.Cand D only
4. B and D only
Options :
71087048917. 1
71087048918. 2
71087048919. 3
71087048920. 4

Question Number : 110 Question Id : 71087012304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fafaiad # 9 ®F d &gl 4 3¢ wifefdd faen e -u si=iie & UaiT foa 7
A. ST 3HET

8. Al Twl HieT

C. 7R d®l AR

D. Dol Aolsd &y

i< fau 7Y fasedl ¥ 9el STk &1 981 DY -

1. Bad A AR D
2. HaAAB AR C
3. ®ad C 3R D
4. HaAB 3R D
Options :
71087048917. 1
71087048918. 2
71087048919. 3
71087048920. 4

Question Number : 111 Question Id : 71087012305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements regarding Munshi Premchand are correct?

A. Premchand was among the first to portray the Dalits as independent and recognisable
characters

B. Premchand was not sensitive to the political movements of his times

C. One of Premchand ‘s last and famous stories - Kafan (The Shroud) was first published in
Hindi (1935) and later in Urdu (1936)

D. In his writings, Premchand was more concerned about social evils

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. Cand D only
Options :
71087048921. 1
71087048922. 2
71087048923. 3
71087048924. 4

Question Number : 111 Question Id : 71087012305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



qfiude s aR & FEfed Y e U Sy 98l & 2
A. UG Wda 3R iR uEl & w9 F efadl &1 g & 9 99d 98d e | i 41
B. UHdG 3104 THGTAH Joi-idd AGianl & ufd Hdg-=id el 4|

C. UHdE @I 3ifaH 3R UTg Peli-al § 3§ U Dol ®h- Hauyd Bl | (1935) SR §lg # 35,
# (1936) H USRI g3 |

D. UHde - 30 tig | grHTford aRisdl & aR H ¥ forar g
i G U fa@cal O 9l IR &1 90 &

1. PadA AR B
2. ®HadB AR C
3. @A A AR D
4. HFAC ARD
Options :
71087048921. 1
71087048922. 2
71087048923, 3
71087048924, 4

Question Number : 112 Question Id : 71087012306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct?

A. The English language was the vehicle through which the first glimpses of the nature of
scientific method reached India

B. Acceptance of progressive thought of the West did mean the acceptance of the British rule

C. The new English education made the Indians believe that the ethos of modern English
society and the ethos of modern science are identical

D. A genuine cultural resurgence in the nineteenth century India was effected by way of
‘cultural induction’- to mean the direct transfer of ideas

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. A and C only
4. Cand D only
Options :
71087048925. 1
71087048926. 2
71087048927. 3
71087048928. 4

Question Number : 112 Question Id : 71087012306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TRGTmUHsEHEIf I PR T FYT 98l & ;
A. STUST HTeT U TreH o fored At ¥ a9 [3fE & Uaid &1 ugdl Jaidedl HRd 9gdi|
B. UfEH & Widare] [AaR] & WIeR - &1 Adad Ul [§iex I &f WieR &

C. 93 UGl &1 & HRU YR 98 AH @ b H1HD 3ol GAS & bR SR AYHS
{3371 & TBEIR U GAH 5|

D. A4l Tdiec! H drdidd Fikpidd GASITRY Hikdldd URUT 3yid f[aari & Udal iaeo ¥
THIfGd ol

A T&u 1T fawmedl O U8l IR &1 90 & -

1. Bad A AR D
2. HaAAB AR C
3. @A A AR C
4. ad C AR D
Options :
71087048925. 1
71087048926. 2
71087048927. 3
71087048928. 4

Question Number : 113 Question Id : 71087012307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From among the following which are the correct statements?

A. Abanindranath Tagore's paintings present a blend of common objects and events with the

reality

B. Gaganendranath Tagore produced paintings in liquid watercolour featuring theatrical
architecture in contrasting light

C. Rabindranath Tagore presents a gripping interweave of naivete and sophistication in his
paintings

D. Jamini Roy sought to develop a personal style in painting that ran close to the urban
tradition

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3.Cand D only
4. A and C Only
Options :
71087048929. 1
71087048930. 2
71087048931. 3
71087048932. 4

Question Number : 113 Question Id : 71087012307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad ou-l 5 9 SFY &Y el o
A. e SR o o g 9l SR ge-Tedl &l dRdiddal & Byl & Ty Udd &d g

B. TRHSAIY TR 4 O dIe doR gRI [duH YdbI=l H FHIGEIC! dRgddl ®I [a=NarsHi drd [
CRIDE

C. WIEY SR F 0= foAt o v 3R Sfedar &1 aades HdiFs- wgd fodl e

D. SIfEFT G A U= it fesda Kl [qm it & o T fddl o [e<l Iuw § 9gd
frrerdt ofedt ot

A T&u 1T fawmedl O U8l IR &1 90 & -

1.%ad A3ARD
2. HaAAB AR C
3. ®ad C 3R D
4. HAAA 3R C
Options :
71087048929. 1
71087048930. 2
71087048931 3
71087048932. 4

Question Number : 114 Question Id : 71087012308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following statements are correct?

A. If historical explanation occurs accidentally, through an oversight, one cannot call them
biased but just wrong or unjustified

B. Colonial history written by the colonizers highlighted the views of the colonized

C. In historical writing, it is important to distinguish between cultural relativism and cultural

hias

D. Postmodern writers do not view history as the product of the historian 's world, of his or
her ideas, materials and interests

Choose the most appropriate answer from the options given below:

1. A and D only
2. A and C only
3.B and C only
4. Cand D only
Options :
71087048933. 1
71087048934. 2
71087048935. 3
71087048936. 4

Question Number : 114 Question Id : 71087012308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafiEd 4o 4 duT 981 § ;

A. TfE SEaT B dolg Y iy SfdH® Uil odRedl &dl ¢ dl 3¢ diy odidd Yaide gui
8! ®e Udhdl, dfcth Taid 4T Sfftid dhe Ihdl & |

8. JUMHORIE! gRI fore T STuaRe 3fde™ & Sui-afial & faari @ U@ s s
C. Ufagiie o | Uieiad JIUa[as AR Sikbide Jaids & did g o3 dedyy ol

D. IWR-HYHD T 3fdeM @I S[AeHHR & S d, 39d faarT, It o fgdl & uRkum &
EUH S GEd & |
I o0 o foweal § 98t SR @I 907 &x

1. Bad A AR D
2. HaA A 3R C
3. ®HaAAB AR C
4. &ad C AR D
Options :
71087048933 1
71087048934. 2
71087048935, 3
71087048936. 4

Question Number : 115 Question Id : 71087012309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following were NOT members of Serampore missionaries?
A. Dr. John Wilson

B. Dr. Murray Mitchell

C. William Carey

D. Joshua Marshman

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. Cand D only
Options :
71087048937. 1
71087048938. 2
71087048939. 3
71087048940. 4

Question Number : 115 Question Id : 71087012309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafaiad # 9 ®F WAR HE & 9e 761 U 7
A. B1. S faea

2. 3. 7Y fia

c. faferga &2

D. IR HIRIAH

i fQu 1Y fddedl ¥ Hgl STk &l 98- 31 -

1. Had A 3R B
2. HaAAB AR C
3. ®ad A AR D
4. Had C AR D
Options :
71087048937. 1
71087048938. 2
71087048939. 3
71087048940. 4

Question Number : 116 Question Id : 71087012310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
Author Book
. India, What can it Teach Us?

A, AL Basham

l. Society and Culture in Twelfth-Century North

B. B.N. 5. .
Yadava india
C. G.C. Pande lIl. The Legacy of India

D. Max Muller V- The Meaning and Process of Culture

Choose the correct answer from the options given below :

TA-IL,B-1,C-1V,D-1I
2ZA-LB-1,C-N,D-1V
SA-ILB-IV,C-1I,D-1
4AA-LB-IV,C-1I,D- 11
Options :

71087048941. 1
71087048942. 2
71087048943. 3
71087048944. 4

Question Number : 116 Question Id : 71087012310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| D gl -1l G
A. T Ud. 919 . 27301 @l &4 e 3 37
B. U4 UG, OlGd |11 GRITE3T U8 dhodk 34 o Tgdl A1 3f3a

c. . 4. ais . g ferfidt 3w Sfear
D. T e V. & HIFT U3 U 3 dek
<4 fGu T faedl H 9§ 98l SR 9T ;

TA-NLB-1,C-1V,D-1I
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-IV,C-1I,D-1
4 A-1,B-IV,C-II,D-1I
Options :

71087048941. 1
71087048942. 2
71087048943. 3
71087048944. 4

Question Number : 117 Question Id : 71087012311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
(Previous Buddhas) (Bodhi Tree)
A, Vipassi i. Pundarika
B. Sikhi ii. Patali

C. Vessabhu iii. Sirisa

D. Kakusandha iv. Sala

Choose the correct answer from the options given below :

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1L,C-1V,D-1I
SA-ILB-IV,C-I,D-1
4AA-IVB-IILC-1,D-1
Options :

71087048945. 1
71087048946. 2
71087048947. 3
71087048948. 4

Question Number : 117 Question Id : 71087012311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-1 0d -gE e -1l Fifige
A, faoedt . qusii®

8. Fafg 1. grefe
C.gEy . fardi

D. DT V. |

d fgu e fadedl & wel IR g :

1. A-l, B-1I, C-lll, D-1V
2. A-ll, B-1, C-1v, D-IlI
3. A-lll, B-1v, C-1, D-II
4. A-Iv, B-lll, C-l, D-1
Options :
71087048945. 1
71087048946. 2
71087048947. 3
71087048948. 4

Question Number : 118 Question Id : 71087012312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

(Poem of Patthupattu) (Authors)

A, Kurinchipattu i. Kausikanar

B. Malaipadukadom il. Kapilar

C. Maduraikkanchi iii. Napputhanar
D. Mullaipattu iv. Maruthanar

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-IVB-1LC-II,D-1I
SA-ILB-1L,C-1V,D-1I
4AA-1ILB-IV,C-1,D-1I
Options :

71087048949. 1
71087048950. 2
71087048951. 3
71087048952. 4

Question Number : 118 Question Id : 71087012312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl -1 Jqureg &l piddrd Tl -1l TIATDR
A Z . DIYBHR

B. AAUgHSIH . BIUTR

C. Ogiadifd 1. TUFAR

D. Heolwieg V. HEER

- feu 70 f9@eal & O U SR g :

1A -1, B-1I, C-1l, D-1IV
2ZA-IV, B-1, C-1I, D-1I
3A-IlL B-1, C-1IV, D-1I

4. A-ll, B-1IV, C-1, D-1

Options :

71087048949. 1

71087048950. 2

71087048951. 3

71087048952. 4

Question Number : 119 Question Id : 71087012313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

(Mughal Painter) (Art Work)

A. Basawan . St. Mathew

B. Kesu Das Il. A Court Lady

C. Abul Hasan . Seated Man

D. Bishan Das IV. Jahangir embracing Shah Abbas

Choose the correct answer from the options given below:

TA-I,B-1,C-IV,D-Il
2A-IV,B-1I,C-1, D-1
SA-ILB-IV, C-1, D-1
4A-LB-ILC-1v, D-1
Options :

71087048953. 1
71087048954. 2

71087048955. 3

71087048956. 4

Question Number : 119 Question Id : 71087012313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

Tl -1 i R Ol -1l Bfd

A. SUTGH . T Heg

2. g o 1. 3 DI Tt

C. 3gd g9 1. diee 89

D. fag g™ V. SEFIR TR 2018 Sfeard
d fgu e fadedl  © wel 3w g :

TA-NLB-1L,C-IV,D-1
2ZA-IV,B-NIILC-1,D-1
3A-ILB-IV,C-1IILD-I
4 A-1L,B-II,C-1V,D-1
Options :

71087048953. 1
71087048954. 2
71087048955. 3
71087048956. 4

Question Number : 120 Question Id : 71087012314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A, Sahajiya sect i. The originator of Dasakuta movement
B. Vallabhacharya [ii. Introduced Shakti and Tantric practices
C. Hit Harivamsha |iii. Propogated Pushtimarga

D. Shripadaraya iv. Founder of Radha Vallabhi sect

Choose the correct answer from the options given below :

T.A-IV,B-1,C-1,D-1
2ZA-1,B-N,C-1V,D-I
3A-1LLB-IV,C-1I,D-1I
4 A-ILB-1I,C-1,D-1IV
Options :

71087048957. 1
71087048958. 2
71087048959. 3
71087048960. 4

Question Number : 120 Question Id : 71087012314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



- -1l
A TENEIEYCE |1 SDE Gl & Wadd
B. decTHIAY 1. RTerd 3R difics GERT &1 YHd B
c. fgd gRaw 1. gipart &1 uaR fdan
D. HUE V. YTdeTH UG & HUS
- feu 70 f9@eal & O U SR g :

T.A-IV,B-1,C-1,D-1
2ZA-1,B-N,C-1V,D-I
3.A-l, B-Iv, C-ll, D-llI
4 A-ILB-1I,C-1,D-1IV
Options :

71087048957. 1
71087048958. 2
71087048959. 3
71087048960. 4

Question Number : 121 Question Id : 71087012315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

(Biographical Works) (Authors)

A. Navasahasankacharita I. Jayanaka

B. Ramacharita ii. Bilhana

C. Vikramankadevacharita iii. Padmagupta Parimala
D. Prithvirgjavijaya iv. Sandhyakara Nandin

Choose the correct answer from the options given below :

TA-ILB-1,C-11,D-1V
2ZA-ILB-IV,C-1I,D-1
SA-ILB-1L,C-IV,D-1
4AA-IVB-IILC-1,D-1
Options :

71087048961. 1
71087048962. 2
71087048963. 3
71087048964. 4

Question Number : 121 Question Id : 71087012315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

Ot -1 IRy gt -1l D

A, TIHEHIBAR . SAHD

B. IHARd 1. faeg

C. famHiBeadid 1. GEFT ufd
D. YRIEfdwY . HeTT T
d fgu e fasedl & wel 3w g :

T.A-Il, B-,C-ILD-1IV
ZA-ILB-IV,C-1,D-1I
3A-ILB-LC-IV,D-1
4 A-IV,B-U,C-1I,D-1
Options :

71087048961. 1
71087048962. 2
71087048963. 3
71087048964. 4

Question Number : 122 Question Id : 71087012316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

(Authors) (Works)

A, Tapati Guha Thakurta |l. Bombay Cinema: An archive of the city
B. Bhikhu Parekh Il. Monuments, Objects, Histories

C. Ranjani Mazumdar lIl. Women in Modern India

D. Geraldine Forbes IV. Debating India

Choose the correct answer from the options given below :

TA-ILB-1,C-1,D-1V
2ZA-IVB-NI,C-I,D-1
SA-LB-1IL,C-N,D-1V
4AA-ILBE-IV,C-1,D-11
Options :

71087048965. 1
71087048966. 2
71087048967. 3
71087048968. 4

Question Number : 122 Question Id : 71087012316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| D gt -1l Bl

A U TRTOI@Ral |1 §r R .0 33 oife ¢ fadt
B. HRg URE 1. Ay, sisslacy, e

C. 3G A9HER Il 98 39 s sfear

D. WRIca hied VARG EIEED

- feu 70 f9@eal & O U SR g :

TA-NLB-1LC-I,D-IV
2ZA-IV,B-NIILC-1,D-1
3A-LB-1IL,C-1I,D-1IV
4 A-ILB-IV,C-1,D-1
Options :

71087048965. 1
71087048966. 2
71087048967. 3
71087048968. 4

Question Number : 123 Question Id : 71087012317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

(Authors) (Their works)

A. Michael Madhusudan Dutta l. Madhali Sthiti

B. Narmadashankar Lalshankar - ‘Narmad' |Il. Saraswatichandra

C. Hari Narayan Apte Il. Pingalprakash

D. Govardhanram Madhavram Tripathi V. Meghnad-Badh Kabya

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-ILB-1,C-IV,D-1
SA-ILB-NL,C-1V,D-1
4 A-LB-ILC-I,LD-1V
Options :

71087048969. 1
71087048970. 2
71087048971. 3
71087048972. 4

Question Number : 123 Question Id : 71087012317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| D gl -1 39! Bl
A, AlZHAT AYYET & . A Rufd

B. FHGIRIB AP -THG ° I, g

C. R AR/ 3 IREUGPEIEY

D. e A1ea™ Furdt V. HEHTG-9Y B
- feu 70 f9@eal & O U SR g :

T.A-IV,B-1I,C-1,D-1
2ZA-1LB-1,C-IV,D-1I
3A-ILB-NLC-1V,D-I
4 A-1L,B-ILC-1I,D-1IV
Options :

71087048969. 1
71087048970. 2
71087048971. 3
71087048972. 4

Question Number : 124 Question Id : 71087012318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l
(Author/Poet) (Language)
4. Lakshminath Bezbarua i. Oriya

B. Radhanath Ray ii. Assamese
C. Ramaling Swamigal iii. Telugu
D. Chilakamarthi Lakshmi Narasimham iv. Tamil

Choose the correct answer from the options given below :

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1L,C-1V,D-1I
SA-ILB-IV,C-I,D-1
4AA-ILBE-IV,C-1I,D-1
Options :

71087048973. 1
71087048974. 2
71087048975. 3
71087048976. 4

Question Number : 124 Question Id : 71087012318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| T /Bid Tt -1l YIET
A. TEHHTY SSEw3 . 3fsan

B. THTTY I™ IREEsiEte)
C. I @i IGU

D. Faepmdf & RivgmH v, diEd
- feu 70 f9@eal & O U SR g :

TA-LB-1,C-1L,D-1IV
2ZA-1,B-1,C-1V,D-1I
3A-ILB-IV,C-1,D-1I
4 A-ILB-IV,C-1I,D-1
Options :

71087048973. 1
71087048974. 2
71087048975. 3
71087048976. 4

Question Number : 125 Question Id : 71087012319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l
(Historians) (Their schools)
A. B. R. Nanda . Annales

B. Anil Seal ll. Imperialist
C. Valentine Chirol lIl. Cambridge
D. Harbans Mukhia I\, Nationalist

Choose the correct answer from the options given below:

TA-ILB-1L,C-1,D-1IV
2ZA-ILB-1L,C-1V,D-1I
SA-IVB-IL,C-I1L,D-1
4AA-LB-IILC-IV,D-1I
Options :

71087048977. 1
71087048978. 2
71087048979. 3
71087048980. 4

Question Number : 125 Question Id : 71087012319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

Tl -1 SfagEdR Tl -11 3! fadRe
A. o1 3R, Fal . TTH

B. Hfd i 1. FTETSHdTal

C. gaiersd | 11 B

D. BX&Y HRad V. TFaTGl

d fgu e fadedl & © wel IR g :

TA-NLB-I,C-1,D-IV
2ZA-1,B-1,C-1V,D-1I
3A-IV,B-NIILC-1I,D-1
4 A-1L,B-IILC-IV,D-1
Options :

71087048977. 1
71087048978. 2
71087048979. 3
71087048980. 4

Question Number : 126 Question Id : 71087012320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order:

A. Katyayana, the author of Vartika

B. Patanjali, the author of Mahabhashya

C. Yajnavalkya, the author of Yajnavalkya Smriti

D. Yaska, the author of Nirukta

Choose the correct answer from the options given below :

1.A,B,C,D
2D,A B, C
3B,D,A,C
4D,B A, C
Options :

71087048981. 1
71087048982. 2
71087048983. 3
71087048984. 4

Question Number : 126 Question Id : 71087012320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad & oy 4 aed &- ;

A, GIfd® & oD BT

B. HETHS & Ti@d® Uddliar

C. Uidedd Hid & dd® giRidedd

D. Foad & TE® IR®
A f&u 1T fawmedl O U8l STk &1 90 & -

1. A BCD
2.D,ABC
3.B.D, A C
4.D,B A, C
Options :
71087048981.
71087048982.
71087048983.
71087048984.

AW N =

Question Number : 127 Question Id : 71087012321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following eras in the chronological order :
A. Kalchuri

B. Krit

C. Harsha

D. Valabhi

Choose the correct answer from the options given below :

Options :

71087048985. 1
71087048986. 2
71087048987. 3
71087048988. 4

Question Number : 127 Question Id : 71087012321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad Yol & drarsHH § ogaieyd oY ;
A. DR

2. P
c.gy

D. gl
i 5T U fa@cal O 981 ST @ 90 &

1.B,C,A D

2 A B CD
3.D,A B C
4.B,A D C
Options :
71087048985. 1
71087048986. 2
71087048987. 3
71087048988. 4

Question Number : 128 Question Id : 71087012322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically the following copper-plate inscriptions:
A. Ganjam copper-plate inscription

B. Madhuban copper-plate inscription

C. Sui-Bihar copper-plate inscription

D. Wardak copper-plate inscription

Choose the correct answer from the options given below :

1.C,D,A.B
2B, C,A,D
3D,A,B,C
4 C,B,A.D
Options :
71087048989. 1
71087048990. 2
71087048991. 3
71087048992. 4

Question Number : 128 Question Id : 71087012322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad dm ozt sifical &I dic hHFER 3 :
A. TIoTH T1H U 3ff¥era

B. HEE dd A 3ifica

C. Ga-T9eR dF 4= sifiica

D. WS d1H U7 HHeia

i< fau 7Y fasedl ¥ 9el STk &1 981 DY -

1.C,D A B
2B CAD
3.D,A B C
4.C, B, A D
Options :
71087048989. 1
71087048990. 2
71087048991. 3
71087048992. 4

Question Number : 129 Question Id : 71087012323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Chronologically arrange the following works related to the story of Rama:
A. Balaramayana

B. Uttararamacharita

C. Pratimanataka

D. Raghuvamsa

Choose the correct answer from the options given below :

1.A,B,C,D
2C,D,B,A
3D,C,B,A
4B,A,D,C
Options :
71087048993. 1
71087048994. 2
71087048995. 3
71087048996. 4

Question Number : 129 Question Id : 71087012323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IAGYT Y eifda FafcaRad 3yl @f DIes H oHaied &1 :
A. STCRAR
B. JORHANT
C. UfdHHIED

D. TYa
i 5T U fa@cal O 981 ST @ 90 &

1. A BCD
2.C DB A
3.D,C,B A
4.B,A D C
Options :
71087048993.
71087048994.
71087048995.
71087048996.

AW N =

Question Number : 130 Question Id : 71087012324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically the following south Indian temples:
A. Kailasanatha temple of Kanchi

B. Siva temple of Thanjavur

C. Srirangam temple of Madurai

D. Virupaksha temple of Pattadakal

Choose the correct answer from the options given below:

Options :

71087048997. 1
71087048998. 2
71087048999. 3
71087049000. 4

Question Number : 130 Question Id : 71087012324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fafaad afémT HRdR el ®f 3@ A1 &16 & B3 H 36 -
A. il BT BT HiGR

B. AoTqR I g HfeR

C. HgY @ 47 HieR

D. Ugadd @l [deylal Higx

i< fau 7Y fasedl ¥ 9el STk &1 981 DY -

1. A B D,C

2 A B CD
3.A,D,B,C
4.D,A B, C
Options :
71087048997. 1
71087048998. 2
71087048999. 3
71087049000. 4

Question Number : 131 Question Id : 71087012325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following royal women of substance in sequence starting from the earliest:
A. Mumtaz Mahal

B. Rabia Daurani

C. Mukhduma- i Jahan

D. Hamid Bano Begum

Choose the correct answer from the options given below:

1.B,C,D A
2D,B, A,C
3C,D,AB
4 A,C,B,D
Options :

71087049001. 1
71087049002. 2
71087049003. 3
71087049004. 4

Question Number : 131 Question Id : 71087012325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad 2mel nHTaRIeT Afgarst ®f Ugd ¥ 916 & dIcmH H oaiyd dx :

A. THATS 759
B. TIfeRT SR

C. ABGHI-T Wel
D. §HIGl S s7H
A T&u 1T fawmedl O U8l IR &1 90 & -

1.B,C,D A
2.D,B A C
3.CDAB
4. A CB D
Options :
71087049001.
71087049002.
71087049003.
71087049004.

AW N =

Question Number : 132 Question Id : 71087012326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following rulers of Vijayanagara Empire in chronological order, starting from the
earliest:

A. Mallikarjuna Raya

B. Virupaksha Raya Il

C. Deva Raya |

D. Deva Raya I

Choose the correct answer from the options given below:

1.C,D,A.B
2B, ,A,C,D
3A,.C,D,B
4 C,B,A.D
Options :
71087049005. 1
71087049006. 2
71087049007. 3
71087049008. 4

Question Number : 132 Question Id : 71087012326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



[GogTR I & FHEfaRad Th6! @ Ugd § = dd gU dIasHd H Haieyd &1 :
A, HiceidIoH I

8. fawure g fgda

C. &d @ uYH

D. &4 ¥ f&dia

=i g 7Y faepeal O Hel SR &1 9u o -

1.C,D A B
2B ACD
3ACDB
4.C, B, A D
Options :
71087049005. 1
71087049006. 2
71087049007. 3
71087049008. 4

Question Number : 133 Question Id : 71087012327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Chronologically arrange the following Insha collections starting from the earliest :
A. Insha- i Tahir

B. Insha- i Mahru

C. ljaz- i Khusrawi

D. Riyaz- ul Insha

Choose the correct answer from the options given below :

1.C,B,D A
2B, ,A,C,D
3D,C,B,A
4 A,B,C,D
Options :
71087049009. 1
71087049010. 2
71087049011. 3
71087049012. 4

Question Number : 133 Question Id : 71087012327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafifad 321 Yoo ®f TRY J BIasmd H oaareyd ox :
A SRI1-T dlfeR

B. 3M-U HE®

C. 3919 -U uwdl

D. FameT -3a san

i< feu U faeedl € Hel SR &1 90 N -

1.C,B,D A
2B ACD
3.D,C,B A

4. A B, C D
Options :
71087049009. 1
71087049010. 2
71087049011. 3
71087049012. 4

Question Number : 134 Question Id : 71087012328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Chronologically arrange the following social reform associations according to their years of
establishment:

A. Prarthana Sama;

B. Arya Samaj

C. Rahnumai Mazdayasnan Sabha
D. The Radha Saomi Satsang

Choose the correct answer from the options given below:

Options :

71087049013. 1
71087049014. 2
71087049015. 3
71087049016. 4

Question Number : 134 Question Id : 71087012328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad grafsd R ol &l 3-d RG] I8 & AJHR DI H Haid 31 :
A. T AT

B. 1 HIG

C. TETATS ACGUIEH §HI

D. TTYT THT TR

i< fau 7Y fasedl ¥ 9el STk &1 981 DY -

1.C,D A B

2 A B CD
3.D,A B C
4.B,D, A C
Options :
71087049013. 1
71087049014. 2
71087049015. 3
71087049016. 4

Question Number : 135 Question Id : 71087012329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following institutions in a chronological sequence:

A. The Arya Samaj Gurukul at Kangri

B. The Victoria Jubilee Technical Institute at Mumbai

C. Vishwabharati

D. The Institute of Science at Bangalore

E. Association for The Advancement of Scientific and Industrial Education at Kolkata

Choose the correct answer from the options given below:

1.BLA,E,D,C
2ZA,B,C,D,E
3E,D,C,B A
4C,D,E,AB

Options :

71087049017. 1
71087049018. 2
71087049019. 3
71087049020. 4

Question Number : 135 Question Id : 71087012329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



9 Swrell @1 Gel SIaPHER 9 |

A. 3T GHIS T[odd, RIS
B. fageiian Sfacl dvdd sieege, deas
C. fayura

D. SR b WEY, dAR
£ THIFYURA BRR ¢ Tsaigde 1h TEihe 18 T5&1d Togdh M, S iam
i f3u U fashedl O Tel Sax &1 9g- &1

1.B,A ED,C
2 A B CDE
3EDCBA
4.C,D,EAB
Options :

71087049017. 1
71087049018. 2
71087049019. 3
71087049020. 4

Question Number : 136 Question Id : 71087012330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |: Objective interpretations in history writing are those which best meet rational
criteria of accuracy, comprehensiveness, consistency and openness.

Statement |I: The fundamental point of the historical quest has been to ‘discover' the truth, as
opposed to merely ‘inventing’ it.

In light of the above statements, choose the most appropriate answer from the options given
below :

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087049021. 1

71087049022. 2

71087049023. 3

71087049024. 4

Question Number : 136 Question Id : 71087012330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A C AT LS

©Y | : 38 T D1 a8 ARATE d § Sl Yeldbdl, ddhdl W adl R Foiyd & diivd
AG S| & gad e IR Bl o

®YA 11 : UfaeTie 2y &1 Feyd fdg T &1 45 HAsHR &A1 ol dfch I B diel’ HAl
ET 6

Iudad Byl & 3iciie H FgfiRad faeedl 9 9 Haife Sugad ST g -

1. @Y | 3R 1| GHf T8l 2l

2. YT | IR 11 G G&l T &

3. &Y | 98l & b &Y 11 98l el ol
4. DY | Tel T8l © g DY 11 W8 B
Options :

71087049021. 1

71087049022. 2

71087049023. 3

71087049024, 4

Question Number : 137 Question Id : 71087012331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: The earliest deciphered inscriptions in India were written in the Prakrit language.

Statement |I: The use of Sanskrit as an epigraphic medium became widespread in the fourth
and fifth centuries A.D, but even then Prakrit continued to be used.

In light of the above statements, choose the correct answer from the options given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087049025. 1

71087049026. 2

71087049027. 3

71087049028. 4

Question Number : 137 Question Id : 71087012331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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# g, difde ad i Uihd &1 U Wkl 8T

Sudad HYHl B H1ciie H FafiRad fadedl # 4 el IR 4 -

1. DY | 3R 1| GHI Fgl

2. @Y | 3R 11 GF Tad &

3. By | 9 & fbhg Y 11 7Tad B
4. DY | AT & g HY 1 TEl B
Options :

71087049025. 1

71087049026 2

71087049027. 3

71087049028 4

Question Number : 138 Question Id : 71087012332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement I: The Mughals also incorporated Sanskrit astrology into courtly practices.
Beginning under Humayun, royal horoscopes were cast according to both Indian and Persian
systems.

Statement II: Akbar instituted the position of Jyotisraja (or Jotik Rai, “royal astrologer”) in
order to have a scholar vested in Indian astrology formally recognised at court and several
Brahmans successively held this office into Shahjahan's reign.

In light of the above statements, choose the most appropriate answer from the options given
below :

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087049029. 1

71087049030. 2

71087049031. 3

71087049032. 4

Question Number : 138 Question Id : 71087012332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A C AT LS

DY |: T GRaR] WRFERT H S%hd -oaiiay faen & 1 2niHd fear o1 gaY & IeEsE |
TRY Bl Mgl THUEET HRAY SR BRI GH! Uil & IR -5 713 4|

FHY 1I: AP - GXOR H HUFRE ¥9 Y AU HRAd Wiy J 9RAd g &I 3@ &
fore o @ Sifae T 2e! waifauT) @1 Ue I faan Sk Aeviel & Eea | Uh
o dlc U 3D ST 59 UG R 6|

SWdd &Yl & Scie | Hgifed fadbedl H ¥ Galiid Iugdd Io) I ;

1. @Y | 3R 1| GHf T8l 2l
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4. DY | Tel T8l © g DY 11 W8 B
Options :

71087049029. 1

71087049030. 2

71087049031. 3

71087049032. 4

Question Number : 139 Question Id : 71087012333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement I: Meaning construction is at the nexus of culture, social structure and social action
in historical explanations.

Statement |I: Through analysis of narratives, which embody symbolic meaning and codes of
understanding, the historian can access the power of culture, both as structure and practice.

In light above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct and Statement Il is incorrect
4, Statement | is incorrect and Statement Il is correct
Options :

71087049033. 1

71087049034. 2

71087049035. 3

71087049036. 4

Question Number : 139 Question Id : 71087012333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. @Y | 3R 1| T g8l T8l g

3. &Y | 98l g b &Y 11 981 el ol
4. DY | GEI -Tel o, fdog Y 11 91 B
Options :

71087049033. 1

71087049034. 2

71087049035. 3

71087049036. 4

Question Number : 140 Question Id : 71087012334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |: Ranjit Guha sought to establish how insurgency might be read from the gaps,
fissures, and rhetorical strategies that marked dominant discourses.

Statement II: Sumit Sarkar stresses the fact that members of the subaltern collective, while
critical of "orthodox Marxist theory and practice”, did not retain a Socialist and Marxist
outlook.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087049037. 1

71087049038. 2

71087049039. 3

71087049040. 4

Question Number : 140 Question Id : 71087012334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087049037. 1

71087049038. 2

71087049039. 3

71087049040. 4

Sub-Section Number : 2
Sub-Section Id : 710870387
Question Shuffling Allowed : Yes

Question Id : 71087012335 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)

Question Label : Comprehension



Read the passage given below and answer the questions that follow

Indian civilization is distinctive for its antiquity and continuity. It is known for its variety and
diversity as well as for its unity and uniformity. Apart from its own vitality, the continuity of
Indian civilization is largely due to its ability to adapt to alien ideas, harmonise
contradictions and mould new thought patterns. Her constant contacts with the outside world
also gave India the opportunity to contribute to other civilizations. The earliest origins of the
Indian civilization are traced to the period of the highly advanced urban Harappan cities. Since
then, and even before, trade between India and the West had been an important contact
which continued until the decline of the Roman Empire. The Aryans laid the foundation of
Vedic civilization. There are close resemblances between the language and mythology,
religious traditions and social institutions of the Indians and Iranians on the one hand, and
those of the Greeks, Romans, Celts, Germans and Slavs on the other. Contact between the
Indians and the Greeks during the period of Persian ascendancy was close and constant, and
became even closer after the military campaign of Alexander. After Alexander's death, his
Empire dissolved but for some two centuries Greek or semi - Greek principalities continued in
the northwestern region of India.

Sub questions

Question Number : 141 Question Id : 71087012336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The remarkable archaeological discoveries of Harappa and Mahenjodaro have put back the
antiquity of Indian civilization and culture by several centuries and made it contemporaneous
with which of the following civilizations?

A. Egypt

B. Elam

C. Mesopotamia

D. Rome

Choose the correct answer from the options given below:

1. A and B only

2. A and C only
3.A,Band Conly
4. A, Cand D only
Options :
71087049041. 1
71087049042. 2
71087049043. 3
71087049044. 4

Question Number : 142 Question Id : 71087012337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is NOT true about the Harappan culture?

1. It represents a developed civilization

2. It is a bronze age civilization

3. People used a pictographic script

4. Stone was profusely used in the buildings of Harappa and Mohenjodaro



Options :

71087049045. 1
71087049046. 2
71087049047 3
71087049048. 4

Question Number : 143 Question Id : 71087012338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Where does the following concept of India occur which describes the effective mountain
barriers in the north and the ocean in the south emphasising fundamental geographical unity
of India?

"Uttaram yatsamudrasya Himadreshchaiva dakshinam Varsham tad Bharatam nam Bharati
yatra santatih”

1. Athravaveda

2. Mahabharta

3. Satapatha Brahmana
4. Vishnu Purana
Options :

71087049049. 1
71087049050. 2
71087049051. 3
71087049052. 4

Question Number : 144 Question Id : 71087012339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following declared for the first time that there existed a definite relationship
between Sanskrit and some of the principal languages of Europe?

1. Filippo Sarreti
2. James Prinsep
3. Ludwig

4. Max Muller
Options :
71087049053. 1
71087049054. 2
71087049055. 3
71087049056. 4

Question Number : 145 Question Id : 71087012340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following authors informs us that ‘Hindush' or India had become the twentieth
satrapy of the Achaemenid (Persian) Empire?

1. Aristobulus

2. Herodotus

3. Pliny, the Elder

4. The anonymous author of Periplus
Options :

71087049057. 1

71087049058. 2

71087049059. 3

71087049060. 4

Question Id : 71087012335 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 71087012336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. HAAA, C3RD
Options :
71087049041. 1
71087049042. 2
71087049043, 3
71087049044, 4

Question Number : 142 Question Id : 71087012337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



71087049045. 1
71087049046. 2
71087049047. 3
71087049048. 4

Question Number : 143 Question Id : 71087012338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1, 3udde

2. HeHRd
3. FdUY drelul

4, famoy go7
Options :
71087049049. 1
71087049050. 2
71087049051. 3
71087049052. 4

Question Number : 144 Question Id : 71087012339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. B HeR
Options :
71087049053. 1
71087049054. 2
71087049055. 3
71087049056. 4

Question Number : 145 Question Id : 71087012340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. TR gad
2. gusied
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4, URETY BT HJITH TED
Options :
71087049057. 1
71087049058. 2
71087049059. 3
71087049060. 4
Sub-Section Number : 3
Sub-Section Id : 710870388
Question Shuffling Allowed : Yes




Question Id : 71087012341 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the given passage and answer the questions that follow

Sultan's love of music is illustrated by two interesting anecdotes. The first deals with the sack
of Srirangam when a party of south Indian musicians obtained the idol of Sriranganath from
the Emperor by pleasing him with their performance. The other is connected with a renowned
musician of South India. The Sultan could not bear his favourable musician to be proved
inferior to him. The Rasail-i Aijaz also mentions the arrival of musicians from Khurasan and
invites them to compete with Indian artists. For Sufi saints also, particularly Hamiduddin
Nagori and Nizamuddin Auliya, music was the very breath of life. However, Maulana was dead
against it. Ghazi Tughlaq also, unlike his predecessors not only had forbidden music at his
court but also interfered with the Sama of the Shaikhs.

Sub questions

Question Number : 146 Question Id : 71087012342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following Sultans' love for music is referred to in the above passage?

1. Jalaluddin Khalji

2. Alauddin Khalji

3. Mubarak Khalji

4. Muhammad Tughlag
Options :

71087049061. 1
71087049062. 2



71087049063. 3
71087049064. 4

Question Number : 147 Question Id : 71087012343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The author is referring to which of the following South Indian musician?

1. Gopal Nayaka
2. Nayak Bakhshu
3. Ratnakara Varni
4. Varathunga
Options :
71087049065. 1
71087049066. 2
71087049067. 3
71087049068. 4

Question Number : 148 Question Id : 71087012344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who is the author of Rasail-i Aijaz?

1. Amir Khusrau

2. Hasan Sijzi

3. Ziauddin Barani

4, Amir Arsalan Kulahi
Options :
71087049069. 1
71087049070. 2
71087049071. 3
71087049072. 4



Question Number : 149 Question Id : 71087012345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following Sufi saints is referred to as Maulana who was against music and sama?

1. Badruddin Sulaiman

2. Najibuddin Mutawakkil
3. Badruddin Ishaqg

4. Ruknuddin Samargandi
Options :

71087049073. 1
71087049074. 2
71087049075. 3
71087049076. 4

Question Number : 150 Question Id : 71087012346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following Sultans had forbidden music at his court and interfered with the sama
of the Shaikhs (sufis)?

1. Mubarak Khalji

2. Ghiyasuddin Tughlaqg
3. Muhammad Tughlag
4. Feroz Shah Tughlag
Options :

71087049077. 1
71087049078. 2
71087049079. 3
71087049080. 4

Question Id : 71087012341 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 71087012342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sudad TR H {69 gaaH & difid UH & aR H gare [Ga1 g 2

1. ST Fcfoil
2. 3cN3e A @aell
3. HIRD Gajail
4. {EHG U@
Options :
71087049061. 1
71087049062 2
71087049063 3
71087049064, 4




Question Number : 147 Question Id : 71087012343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T 1 I [ a0 YRAY YiiideR & 9af S Wi e

1. 74T A&

2. A% BT
3. TA®R a1

4. IRYTM
Options :
71087049065. 1
71087049066. 2
71087049067. 3
71087049068. 4

Question Number : 148 Question Id : 71087012344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 3R WA

2. 50 f&wsi

3. foarggA o=

4, ¥R RETH PRl
Options :
71087049069. 1
71087049070. 2
71087049071. 3
71087049072. 4

Question Number : 149 Question Id : 71087012345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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& e o1 2

1. gaoed o
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Options :
71087049073. 1
71087049074. 2
71087049075. 3
71087049076. 4

Question Number : 150 Question Id : 71087012346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087049077. 1
71087049078. 2
71087049079. 3
71087049080. 4




